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TO ETHEL

Whose patience was finally rewarded



Prologue

PE&.EE, IT'S WONDERFUL!
Look at this peaceful scene:

Everything in its place, and plenty of space to move
around in.

Why two different colors? ~

Well, they’re two different nations, you see,

Don't they like each other?

Not exactly.

How come?

Well, the White King and the Black King are enemies.

Enemies?

Yes, bitter enemies. You see, once they swore to battle
each other to the death. The others rally round their Kings
to protect them, and they fight hard. Sometimes the King
leads his forces in the field, but usually the others make
him stay back.

Wait a minute! Which one’s the King?

This one: ¢y. And this one: gp.

How does he go?

[1]



One move at a time.

Any way?

Yes, any way. Forward—and sideward—and backward—
and even diagonally.

Diagonally?

Yes, like this:

Gee, he’s sure something. But why are the pieces dif-
ferent?

They move differently.

Go on—you can’t move differently than in all directions.

Ohb, yes, you can.

Yeah? Well how does that one in the corner move?

That one? That’s the Rook # ¥ . He moves on a straight
line only: to the right—to the left—front and back.

Gee, then I can go all the way over here? -8 —dy—

Well, not exactly. You can’t jump over anything, you see.

Then how—?

Let’s not get ahead of ourselves. First let’s see how each
piece moves.

O.K. How about that one with the cross? @‘ f

Oh, that’s the Bishop.

The Bishop—a fighting man?

Very much so. Only he moves diagonally—like this:




Do you think he’s worth more or less than a Rook?
Well, he can go all the way from here to there:

Yes, that’s the long diagonal. But let me ask you a ques-
tion: Can the Bishop ever reach the square marked X?

No. Once he’s on White, he stays on White.

That’s right. And that’s why the Bishop isn’t worth so
much as a Rook. In fact, he’s worth two Pawns less. He’s
worth 3, and the Rook 5.

PawnsP What's that?

Those are the eight littde men in front of the big pieces.

And how— | |

Wait a moment. Stop getting ahead of the story. Here,

ook at this one: & w
- Who's that?

The Queen, God bless her.

Big stuff, eb?

Yes indeed. The Queen’s the most powerful piece.
Worth 10,

Two Rooks. Um. How does she move?

Like both the Rook and the Bishop.

Gee, she can go anywhere.

Almost. Look: -
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Some stuffl But what good does it do to go to all those
places? Can you take off the other fellow’s men?

Yes, that’s the idea.

But how?

Well, you just move your Queen to the square occupied
by. the opposing piece, take him off, and put the Queen
down on the same square,

Is the Queen the only piece that can make a capture?

No, any piece can make a capture.

Even this one? § § .

Yes, even the Pawn. But since the Queen can move to so
many more places at one time, you can see why she’s so
much more powerful than any other piece.

Gosh, if you win the fellow’s Queen, I guess you just
about have the game!

No—there’s the King—dy b

Don't tell me he’s more powerful than the Queen!

No—not nearly so powerful. But he’s much more impor-
tant. In fact, if you lose the King, you lose the game.

You mean if I can sneak in on the other guy’s King—

It’s not that easy. Of course, if you capture the King, as
I've just said, you win the game—but you have to warn your
opponent first, by saying “check” when you attack him.

[ 4]



Got to warn him, eh?

Yes. If then he can’t get away, you win the game.
But how does he move? You told me—

One square at a time in any direction, Not very far.
Just how does he get out of danger, then?

Well, he has a special move, called “castling.”
What's that?

Look at this position:

Once during the game we can move two pieces at one
time. We move the King two squares to the right or left, and
place the Rook on the other side: So the pieces will land like
this: or this:

7 ggm

Can you do that at any time?
Not if 1 the King has moved.
2 the Rook with which you want to castle has
moved.,
3 the King is in “check” or goes through or into
“check.”
It’s a good idea to “castle” early in the game, then?
Yes, most people do.
That’s pretty neat. Now these things.

RARRRARRE 22211212112
Ob, the Pawns. Poor fellows. Theyre the only pieces that

move forward only.

How many boxes?

One. But the first time you move a Pawn, it can advance
two squares if they are vacant. You can move one Pawn
two squares, and then another Pawn two squares, if you

[5]




want. But if you move a Pawn at all, it can go only one
square the next time it moves.

Then if I go two squares, and he moves in front of me,
can I take him off?

No. The Pawns are blocked.

Pawns move straight ahead, but they capture diagonally.
So the White Pawn can capture the Black Rook or the Black
Bishop, but not the Black Pawn. Which can the Black Pawn
capture?

The White Queen—or the White Bishop.

Good for youl Now—

“Wait a minute. You say any Pawn can move two squares
the first time it movesP—

Yes—

Well, if I get some piece in front of his Pawn before it
has moved, can he jump over it?

No, no jumping.

Aw, gee— |

Well, maybe you can dcr a little jumping” after all, With
this fellow: &y &

The horse?

He's called the Knight—the horse-man. And he’s a
steeplechaser, Look: (see next diagram)

The White Knight can move to any one of the squares
occupied by a Black piece (not a Black Pawn) and can
“jump” over any Pawn in doing it. If you look closely,
though, youll see that he really moves between them.

Then how does he move?

He moves in a line defined by two boxes in one direction
and one in another:

[6]
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Back and forth?

Yes. And you'll notice he goes from Black to White; from
White to Black, etc.

Gosh, he scares me.

He scares all beginners. But after you get used to him,
you find he’s worth only about as much as a Bishop. You
see, he doesn’t move so fast as a Bishop, but he can change
the color of his square.

Well, that’s a Iot to know. When do we start to play?

Hold on a moment. Let’s get our information all together.

[7]



The Elements

—m—

THIS 1S MEANT TO BE A BOOK FOR THE CHESS BEGINNER—A
player who knows the moves of the game but little or
nothing else. It is also meant to be a book which can be read
without the use of a board. Therefore, in the interest of
simplicity, we are using the following symbols:

@ K (King) @ ()
% Q (Queen) & (10)
B R (RookorCastle) ¥  (5)
@ B (Bishop) ¢ (3)
£ Kt (Knight) & (3)
§ P (Pawn) i (1)

These pieces have different values, which are placed in
parentheses after the pictures above. We notice the Pawn
is worth one and the Bishop three. That means the Bishop is
worth about 3 Pawns. The Rook is worth how many Pawns
more than a Bishop? Is a Queen worth two Rooks? Try sev-
eral more relationships for yourself.

These values may change with the position, but they are
the usual values, and should be memorized.

In order for us to talk about the moves we must be ac-
quainted with the board. For the sake of convenience, we
bave lettered the files a-h and numbered the ranks 1-8:
Each square is designated by a letter and a number.

(see next diagram)

Thus, the White King () is on el; the Black Bishop
(§ ) is on g7. Where is the Black Queen? The Black
Knight? Where are the White Rooks? The White Knights?
Name all the squares of the White Pawns; of the Black

Pawns.

[ 9]
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In our abbreviations also, — (a dash) means “moves to”
and X means “takes.” “ch” stands for “check.”

Every move is designated by

1 The piece that moves.

2 The square it comes from.

3 The square it goes to.

What move must White make in the diagram above? Ob-
viously, he must take the Queen with his King, so we write
the move: K el X Q e2. Make this move for Black: Kt {6—h5.

[10]



The King

NOow we are ready to start. But first, you notice that we have
not ascribed any value to the King. That is because if he is

lost, the game is lost.

et you always warn your opponent that his King is at-
tacked, by saying “checkl” Let’s see how we, as White, may
“check” the Black King in the following diagrams:

BLACK

BLACK

%

By
A
0.

ﬁ%
%

0,

d.
White always moves first. Solutions on Page 12.

[11]
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Solutions to Problems on Page 11
a. 1B d1—b3ch or 1B d1—g4 ch.

b. 1Kt d7—<5 ch or 1 Kt d7—F6 ch.
c. IR a8—a4dch or 1R a8—d8 ch.

d. The Queen can check on all these squares: aé, ¢6, <8, €8,
g8, a2, ed, d5. This gives you some idea of the Queen’s
cruising powers!

[12]



The King
more examples of checking follow. These examples are

somewhat more complex, as there are more pieces on the
board.
BLACK

d. WHITE

White always moves first. Solutions on Page 14.

[13]



Solutions to Problems on Page 13
a. Another example of the Queen’s power:
It can check on ed, 3, €2, b3, c4, d5, d6é, aé, 5, g6, d7, h3.
However, on some of these squares it is unprotected, and
the Black King can capture it. Where?

b. 1B g7—f8ch or 1 B g7—e5ch. Also IR bl1—dl1 c¢h or IR
b1—bé ch. Also 1 Kt e3—c4 ch or I Kt e3—Ff5 ch.

But the White King cannot check the Black King (it is
illegal to try to do so0). You can see that if the White King
comes close enough to attack the Black King, he will be sub-
jecting himself to attack.

c. I Kt g3—¥5ch or 1 Kt g3—h5ch. Also IR g4 X P g6 ch.

d I1Qd2XxXPd6chorlRa7 XBc7chor I Kt f4—d5 ch or
IKt f&—gbch or IBe5 X P dbéch or IB e5 X P f6ch or
IPc5 X Pdéch.

[14]



Forking checks
you may now say: “1t's all very well to check, but what ad-
vantage do I get from it?”

A good question, to which the answer is as follows: You
know that on a check, your opponent must attend to his
King's satety. You should therefore try to attack the King
and some other piece af the same time. Try it:

BLACK BLACK

C. WHITE d. WHITE
White always moves first. Solutions on Page 16,

[15]



Solutions to Problems on Page 15
a. 1B dd4—c5 ch.

b. IR ¢3—e3ch.

c. 1B e3—g5ch, winning the Rook. The Bishop can also
check at b6, winning the Knight, but since the Rook is
worth 5 and the Knight 3, the Rook is the piece to win.

d. IR f4—c4 ch, winning the Bishop; or I R f&—f1 ch, win-
ning the Knight, (But note that the Bishop protects the
Knight, It can capture your Rook after your Rook cap-
tures the Knight.)

[16]



Values

very often we have a choice of capturing one of a number
of hostile pieces. (This applies only to positions in which
we are not in check, and therefore have freedom of choice. )
Which piece shall White capture in the following diagrams?

BLACK BLACK

c. WHITE d. WHITE

White always moves first. Solutions on Page 18.

[17]



Solutions to Problems on Page 17
a. 1B e4 X Q ¢2 (Queen = 10; Rook = 5).

b. 1P e5 X R dé (Rook = 5; Bishop = 3).
c. 1Kt d3 X R b4 (Rook = 5; Knight = 3),
d. IR ¢4 X R h4ch (Rook = 5; Knight = 8),

We may change our minds later on about taking a piece
just because it’s worth more than another, but until then—

let’s do it as above.

[18]



The fork .
WHEN a piece attacks two enemy pieces at the same time,
we have a “fork.” A “forking check” attacks the King and

another piece. Some common forks follow:

BLACK

¢ WHITE d. WHITE
White always moves first. Solutions on Page 20.
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Solutions to Problems on Page 19
a. 1Kt b5—c7 ch.

b. 1Kt d5—e7 ch.
c. 1P f2—F4 ch.
d. 1P d4—d5 ch.

These are common situations, and recognition of them
will often lead to gain. It is necessary, however, to picture
the positions on page 19 as the second position to be reached.
Thus:

1 I make a move (often an offer of material).

2 He must reply.

3 I can then fork his pieces as shown on page 19.

[20]



More complicated forks
BLACK BLACK

c. WHITE WHITE
White always moves first. Solutions on Page 22.

[21]



Solutions to Problems on Page 21

White Black
a. I Q d1 X Kt d5 Q d8 X Qd5
2Kt b5—<7 ch
White regains the Queen and remains a Knight ahead.
b. IQed4 X Kt g6 Qe8 X Q gb
2Kt d5—e7 ch
White has won a Knight.
c. IRd1 X Pd5ch Ra5 X Rd5
2P e3—edch
White has 2 won game.
d. IRcl X B2 RecSXRc2
2B 13—ed ch
White has won a Bishop.

[22]



Queen forks
rorks with the Queen are more numerous than those with
other pieces. Some common types follow:

BLACK

c. WHITE d. WHITE
White always moves first. Solutions on Page 24.

-
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Solutions to Problems on Page 23

a. I Q d1—f3 ch. (If you can't see the fork immediately, try
looking at the lines from the viewpoint of the opposing
pieces. Thus, when you start from the Rook, the square
f3 stands out like a tempting red apple!)

b. 1Q d1—h5ch.

¢. 1Q d1—b3 ch. (It would be better to play Q—d5 ch, in
order to win the Rook—IF the Knight did not guard that

square. )

d. IQ f3—b3 ch, winning the Rook.

The Queen can also win other pieces (but the Rook is
the most valuable);

I @—c6 ch wins the Bishop.

1 Q—e4 ch wins the Knight. But White cannot win the
Knight by Q—g4 ch or Q—h3 ch.

Why not? Because the Knight can place himself between
his King and the Queen (. . . Kt—f5).

To place between is called to “interpose.”

So far we've been concerned only with how to win things.
But you may have been asking yourself: “How can I defend
myself against a check? See next page.

[24]



Defenses to forking checks
to defend yourself against a check, you can:

1 Take off the checking piece; 2 Interpose; 3 Move your
King.

When you should do any one of these three depends on
the position and the material you have on the board:

BLACK BLACK

c. WHITE d. WHITE
White always moves first. Solutions on Page 26.

[25]



Solutions to Problems on Page 25

a. I Kt h2 X B g4. The Knight can be retaken on g4 by Rook
at b4, but then the forces will be even. If the King moves
from e2, the Bishop captures the Rook at h5 free of
charge.

b. IR d2 X B d4. Count material. Do you prefer to lose a
Knight (worth 8), or to lose a Rook for a Bishop
(5—3=2)?

c. IKe2—f1. (ButnotI Qg6 X Red.)

d. I K d3—c3. -
If 1Pd4 xKte5 B h3—f5ch
2 King moves Bf5 X Rh7

When the King moves, however (instead of I P d4 x
Kt e5), both Knight and Bishop are still attacked, and White
must win one of them. Other King moves would not be cor-
rect, thus:

(A) IK—edor B—f5ch
K—c2
(B) I1K—e3 or Kt—c4 ch
K—d2 (followed by 2 ... B—f1
or...B—f5, as needed)
(C) IK—e2 B—g4 ch
(followed by a Knight move)
(D) 1K—e2 Kt—gb
2R X Bh3 Kt—f4 ch

(winning the Rook)

[26 ]



King move plus threat (in reply to a forking check)

as we have seen from the solutions facing this page, the
King may sometimes answer forking checks with a counter-
threat to (1) capture an opposing piece, or (2) threaten a
capture by one of his own pieces. For example:

BLACK BLACK
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c. WHITE d. WHITE

White always moves fust. Solutions on Page 28.
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Solutions to Problems on Page 27

a. 1K b2—b3! If the Rook moves, White wins a whole
Bishop; whereas if I... B d4 X e5; 2K b3 X R a4 and
White has won a Rook for a Bishop.

b. 1K g2—f1. White must protect his Rook. Now if 1.
Re2 X Bd2; 2R el X R 6.

c. 1 Ke3d—d2 Pd4d x Re3ch
2K d2 XR <l

d. 1K f4—e4d Q d2 x B dl
2R 3—d3 ch

White wins Queen for Rook.

We shall return to the subject of Defenses and Attacks
after we have learned more about how to win a game, how
much material is needed, and how to win when we have the
necessary material.

Checkmate and Stalemate

OF course, the way to win a game is to checkmate the King.
This means not only to have the King cornered so that he
cannot move—but fo have him under attack.

If the King is not attacked, and none of his pieces has a
legal move, the game is a stalemate: drawn.

For examples, see the following page.

[28]



Checkmates and Stalemates (multiple diagrams)

1~ the first two diagrams to follow, there are many examples
of typical checkmates.
In the remaining diagrams we see examplas of stalemates.

Checkmates
BLACK

C. WHITE d. WHITE

‘Black always moves first. Solutions on Page 30.
[29]



Solutions to Problems on Page 29
a. Black’s King is cornered and under attack., Thus both
conditions for checkmate are fulfilled,

b. Same comment.

c. Black’s King is cornered but not under attack. Hence he
is stalemated.

d. This is also a stalemate. The Black King is not attacked,
yet any move which Black makes will expose his King to
attack. The game is a draw—neither player wins.

If it were White’s move, he could checkmate in a number
of ways: try to find all six of them! (White, cannot, however,
attack the Black King with his own King.)

Therefore: if you have the opposing King in a stalemate
position, you must attack him immediately, to checkmate
him—or, if this is impossible and you are ahead in material
or position, give him a spare move to avoid stalemate.

[ 30 ]



Checkmate
wHAT would you do in the following positions?

Note, by the way, that checkmate is often referred to as
mate.

d.
White always moves first. Solutions on Page 32.
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Solutions to Problems on Page 31
a. I P aé—a7 mate. (Not 1 Kt b4—c6 ch, B b5 X Kt c6; nor
1B d8—c7ch, B d6 X B ¢7 ch.)

b. 1 Q a5—d8 mate.
¢. I R h7—e7 mate.
d. 1R g4—¢g8 mate.

[32]



BELACK

MORE examples, which illustrate the action of the strongest
BLACK

Checkmate by the Queen
piece on the board:
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WHITE
White aiways moves first. Solutions on Page 34.



Solutions to Problems on Page 33
a. I Q e5—f5 mate (not I Q e5—h5ch, K g6—hT7).

b. 1 Q d3 x P h7 mate.

c. 1@ g3 X P g7 mate.

d. 1 Q h6—g7 mate.

If it were Black’s move in this position, how could he de-
fend against the threatened mate? By getting his Queen to
f8. But in Diagram d the Queen cannot get to f8. Therefore:
I...Qcb6—d6ch; 2P g2—g3, Q d6—f8.

How much material is necessary to checkmate a King?
We have seen that a King and Queen can do it; the same
applies to a King and Rook.

In the following positions we see that:

(a) King and Bishop alone, or King and Knight alone,
can do no better than effect stalemate, King and two Knights
likewise cannot force checkmate. '

(b) King and two Bishops force mate.

(¢) King, Knight and Bishop force mate,

(d) King and Pawn (as a Pawn) cannot win (see 29 c).

[34]



Material needed to effect Checkmate
- BLACK BLACK
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White moves furst, except in the top positions of Diagram a.
Solutions on Page 36.
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Solutions to Problems on Page 35

a. In the two top positions, the Black King is stalemated.
In the bottom position, White draws with 1K bl—¢1!

(but not I X bl—al ? ?, Kt e3—c2 matel).

b. 1B gd4—f5ch, K bl—al; 2B e3—d4 mate.
c. I Ktb5—a3ch, Kbl—al; 2 B e3—d4 mate.

d. I P b6—b7 ch, K ¢8—b8; 2 K c6—bé stalemate!

The Pawn can often win by becoming a Queen or Rook
(see page 80).

These positions arise from a long and difficult series of
moves, for which you are referred to more advanced works
on the game,*®

The mating processes with ng and Queen against King,
or King and Rock against King, are not difficult and are so
common as to merit reproduction here. In the case of each of
these basic checkmates, we give the original positions, fol-
lowed by three positions which arise during the mating pro-
cedure,

There are four main stages in the mating process:

1 Limit the opposing King by Queen moves alone,

2 Avoid checks.

3 When the opposing King is on a rank or file at the edge
of the board, move up your King.

4 Always let the other King have at least two moves to
avoid stalemate.

¥ For example, Learn Chess Fast (Reshevsky and Reinfeld) or
Modern Chess Strategy (Lasker).
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King and Queen against King
Which is the proper move in each of the following?

BLACK BLACK

C. WHITE d. WHITE

White always moves first. Solutions on Page 38.
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Solutions to Problems on Page 37
a. I Q d1—g4 (limits the King most).

b. 1 Q dé—e7 (restricts the King to the 8th rank).
c¢. 1K ed—bé (not1 Q e7—c7 ? P stalemate).
d. 1Q d7—b7 mate {or do you like d8, 8 or £8 better?).

The Rook, unlike the Queen, requires the support of its
King at all times. The other principles are the same:

1 Limit the opposing King’s scope; avoid checks.

2 Drive to the rank or file at the edge of the board.

3 Give the opposing King at least two moves (avoiding
stalemate ).
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King and Rook against King
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c. WHITE d. WHITE

White always moves first. Solutions on Page 40.
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Solutions to Problems on Page 39
a. IR el—e4 (followed by K d3—d4—d5).

b. IR e5—f5, K g6—g7; 2R #5—g5 ch (this is permissible,
as the King is forced back to the edge of the board).

¢. 1K e6—f6 (supporting the Rook).

d. IK f6—f7 (not I R g6—g7 stalematel!), K h8—h7; 2R g6—
t6, K h7—h8; 3 R {6—hé mate.
Now that we know something about how to win a game
provided we have the necessary material, let’s return to the
ways in which we can gain material,

Another type of check which is valuable might be called
the “hurdle” check. The idea is: that when the King moves
away, the checking piece continues along the same line and
captures a piece behind the King.

[40]



“Hurdle” checks
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White always moves first. Solutions on Page 42.
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Solutions to Problems on Page 41 |
a. IR b2—b4 ch. It does no good to try to win the Knight,
because it is protected by the Bishop.

b. 1B d1—f3 ch (the Rook is worth more than the Knight).

c. I Q a4—e4 ch wins the Knight. Not, however, I Q—
b5 ch P, Kt—c5/or 1 Q—b3 ch P, X—c6!or I Q—d7 ch ?,
Kt—d6 !

d. I Q h2—h7 ch. But not I Q—c2 ch, B c4—d3.

This defense is the simplest one when it is not possible
to capture the checking piece: interpose a piece of the same
power as the attacking piece. The Bishop goes along the
same diagonal as the Queen (bl—h7) and therefore pro-
tects the Rook. The “hurdle” check avoids this interposition,
but with the Bishop at e6, the check at ¢2 would be pre-
ferred. More examples of defending by interposition follow.
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Defense to check by interposition
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c. WHITE d. WHITE

White always moves first. Solutions on Page 44.
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Solutions to Problems on Page 43
a. 1B g7—d4. This move protects the Knight.

b. 1 Q ¢5—d5 ch. This not only protects the Rook, but forces
the exchange of Queens by making Black attend to his
King. I Q ¢5—c6 would allow Black a counter: . . . Kt g6
—e5 ch.

c. IKed—e3andifI ... Rb4d X ad(P); 2Bdl X Radch.
To interpose the Rook is not good: I R d6—d4(?), Rb4 X
d4 ch; 2K e4 X d4, R b8—d8 ch wins the White Bishop.

d. IRc7—c8ch R d5—d8
2R g7—g8 ch R f4—18
SReB X Rd8ch KeB8 X Rd8

4R g8 X R f8 ch and wins
A double hurdle check! The solution could also start with

1R g7—g8 ch.
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Discovered check ,

we have one more type of check to examine: “discovered
check,” or, more properly, uncovered check. It occurs when
you would be checking the opponent’s King but for a piece
of your own in the way. When you move that obstructing
piece, you “discover” check.

c. . WHITE d. WHITE
White always moves first. Solutions on Page 46.
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Solutions to Problems on Page 45

a. I Kt e5—cé ch. The check is by the Queen (a discovered
check) and the Knight move wins Black’s Queen.

b. IPc6 XPb7ch.If1...PabXxBb5;2P b7 X R a8, be-
coming a Queen.,

c. IRg7 X Ktd7chK h8—g8 8Rg7 XPc7ch Kh8—g8

2R d7—g7 chl 4R c7—g7 ch K g8—hs
Forces the King back into 5Rg7 X Bb7ch K h8—g8

the discovered check. 6 Rb7 X Q a7 completing
2.... K g8—h8  the slaughter.

d. IBh7—gbch!
White must interrupt the line of the Queen on the sixth
rank, else Black answers . . . Q@ d6—hé.

I.... K h8—g8
2B g6—h7 ch K g8—h8
3B h7—gb ch

And the game is drawn by perpetual cher:k This is a for-
tunate result for White since he is so much material behind.
It also teaches us another way to draw a game. (So far we
have learned two others: 1 When neither party has sufficient
material to win—for example, King and Bishop against
King; 2 Stalemate.)

There is another way in which a game, according to the
FIDE ® rules, is a draw: “When a position has occurred
three times with the same player to move, said player may
claim a draw.” This is interpreted in the United States to
mean either player. The purpose of the rule is to prevent a
player in a tournament where there is a time limit, from
gaining too much time and thereby doing away with the
time limit. You will notice that neither player is forced to
claim the draw if he does not want it.

® Izédémnan Internationale des Echecs (International Chess Feder-
ation

[46 ]



Double check

v cases of discovered check where the obstructing piece
also checks the opposing King, we have a “double check.”
This is the most deadly type of check, for the King must
move. In Diagrams ¢ and d we have examples of “Philidor’s

Legac}f.“

c. . WHITE d. WHITE

White always moves first. Solutions on Page 48.
[ 47 ]



Solutions to Problems on Page 47
a. I Kt e4—f6 double check K h7—h8
2 Q d3—h7 mate
Is the move 1Kt e4 X B d6 ch good? No: the Queen is at-
tacked by the Black Bishop at aé. Is 1Kt e4—g5 double
check equally good? No: the King sneaks out via g8—f8—
e’.

b. I R d5—d8 double check and mate.

c. 1Ktf7—hédblch K g8—h8
If1...Kg8—f8; 2Q c4—F7 mate.
2Q c4—g8ch! Rb8 X Qg8

3 Kt h6—f7 mate

A “smothered mate.” This is known as “Philidor’s Legacy,”
after the famous French player of the eighteenth century.
It occurs frequently in similar positions,

d. 1Kt g5—i7 ch K h8—g8
2Kt f7—hé6 ch K g8—h8
3Kt h6—f7 ch K h8—g8
4 Kt f7—hé ch

Drawn by perpetual check. If 8Q c4—g8ch??, Q b8 X
Q g8 and the Queen guards the square 7. Of course, White
is 50 much material behind that he is happy to get a draw.

The pin is a paralyzing weapon, which renders an oppos-
ing piece temporarily useless. It occurs when the opposing
King would be attacked if the “pinned” piece moved. In
Diagram d on page 29, for example, the Rook at c5 is
“pinned” by the Bishop at bé; the Bishop at 3 is “pinned”
by the Rook at h3; and the Pawn at d3 is pinned by the
Queen at c3.
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White always moves first. Solutions on Page 50.
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Solutions to Problems on Page 49

a, IR fl—el

b. 1B e2—c4

c. 1Q d3—h3 R e8—e5
2@ h3—<3! ‘White wins the Rook,

d. 1Q g5—hdch D f7—h7
2R e5—h5

0or

I.... K h8—g7
2R e5—g5ch K g7—16
3@ hd—hé ch K f6—e7
4 R g5—g7
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Attacking pinned pieces

“r7’s all very well to pin a piece,” you might say, “but what
do you do when you have pinned it? It can’t always be taken
off”

True enough, but the answer is: Attack it again, pref-
erably with a piece of lesser value,

BLACK ' BLACK

c. WHITE d. WHITE
White always moves first. Solutions on Page 52.
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Solutions to Problems on Page 51
a. 1P f2—f4

b. I Kt d3—<c5 ch. The Black Bishop is now pinned by the
Rook, and the move of the White Knight attacks the
Black Knight a second time. If I Kt d3—f4, P f6—f5 re-
lieves the pin.

c. 1P d4—d5. Attack the pinned piecel

d. IR b5—e5ch! The attack can be from the rear alsol
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Use of pin to check and mate
BECAUSE of the deceptive look of some positions with pinned
pieces, we are giving some more examples. Look first for

the Black King, then the pinned piece:
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White glways moves first. Solutions on Page 54.
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Solutions to Problems on Page 54

a. 1Q c2—géch
Black’s Pawn at {7 is pinned.

I.... K g8—h8
2Q g6 X P héch K h8—g8
3Q h6—gbch K g8—h8
4 R d4—h4 mate

b. 1Q e2—h5ch K h7—g8

The Black Pawn at gé is pinned.
2 Q h5—h8 mate

c. IQ e3—héch K h8—g8
The Bishop at g7 is pinned by the Bishop at b2.
2Q hé X B g7 mate

d. IR a3—a8 mate

These are common examples, and well worth calling to
your attention, despite their seeming difficulty.

The next question seems to be: How can I defend myself
against a pin? The answers are familiar:

1 Capture the pinning piece.

2 Interpose.

3 Move the King (plus a threat).
- 4 Protect.

5 Pin the pinning piecel
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Defenses to the pin: by capture
THE simplest defense to a pin is to capture the pinning piece.
This is feasible where (a) such capture entails no loss or
{b} such capture is the lesser evil.
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White always moves first. Solutions on Page 56.
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Solutions to Problems on Page 55
a. 1Kt d5 X B b4, Else the Rook at ¢3 is lost for the Bishop
(5 for 31).

b. 1 Q <5 X Q €7. The Knight at e4 is pinned and liable to

capture with check, White should therefore exchange
Queens.

c. 1R gl X B g6, Better lose 5 for 3 than 3 for 0!

d. A longer example: Black has pinned and attacked the
Knight and threatens . . . R e8 X Kt e4 ch followed by
... R e4d X P bd. He will then have all the winning
chances. (Remember that the Pawns can become Queens
on reaching the eighth rank.)

Therefore:

1Qf7 XRe8! BcdXQe8
2Kted X Pf6 B e8—¢cb
3Kt f6 X P g4

And the game should end in a draw. Materially the Queen’
is worth not quite a Rook, Bishop and two Pawns; White
has therefore gained slightly on the transaction.
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Defenses to the pin: by interposition

HE second type of defense is interposition, This can be be-
~tween the pinning piece and the pinned piece; or between
the pinned piece and the King, Values of pieces must always
be kept in mind.
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C. WHITE d. WHITE

White always moves first. Solutions on Page 58.
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Solutions to Problems on Page 57
a. IP b2—b4

b. IR c2—d2 ,

c. IRe5—d5/ Bb7 X Rd5
2Bd4 X Pféch K h8—h7
3B f6 XR d8
Combines defense and attack.

d. 1R {6—dé6
If 1R f6—F4, B ¢7 X P e5.

7 | Bc7 X Rdé
2P e5—ebch! K g7—f8
3Peb X Rd7 K f8—e7

4 P h2—h3

With equality. Not, however, 2. . . B d6—e5?; 3P eb X

R d7, B e5 X d4 because of 4 P d7—d8(Q).

The defense weapon (Interposition) is here combined
with the attacking weapon (Discovered Check) to dispel
Black’s threat of attacking the pinned piece. Some more

interpositions will follow later.
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Defenses to the pin: by moving the King
THE third type of defense consists in moving the King out
of danger.

£

7

C. . WHITE d. WHITE

White always moves first. Solutions on Page 60.
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Solutions to Problems on Page 59
a. I0—O/TIfthen1... Q e7 X Kt e4; 2R fl—el pinning
the Queen.

b. The immediate threatis I.. . B b4 X Kt ¢3 ch. The sec-
ondary threat is I, .. P d5—d4, attacking the pinned
piece. I K el—d2 would stop the first threat, but not the
second. Therefore: 1 B ¢1—d2.

c. Black is threatening to win the Knight. White can’t de-
fend with his King because the Black Knight guards the
square d2, Nor does it do any good to attack the Knight
(by B g2—f1 or B g2—d5) because 1. .. B b4 X Kt ¢3
is check.

However, there is a defense: I K el—e2, B b4 X Kt ¢3;
2K e2—d3/ forking the Black pieces. Now the best that
Black can dois 2. .. B c3—el; 3K d3 X Kt c4, B el X P 2
with equality.

d. IK h2—g3 Rh8 XBhS
2K g3—g4

An example similar to the above.
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Defenses to the pin: by protection

soMETIMES the solution to the problem of the pin may be a
simple one—perhaps mere protection of the pinned piece
will do. The Pawns are good protectors, and are often used
as such. However, a protection which does not also relieve
the pin is dangerous if your opponent can continue to attack
the pinned piece.
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WHITE d. WHITE
White always moves first. Solutions on Page 62.
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Solutions to Problems on Page 61
a. IPf2—f3 Kt d7—F6

2R g2—e2

But not IR g2—g4, Kt d7—f6; 2R g4—f4 (pinning the
Knight), R €8 X B e4 check!

b. 1P c2—c3. This not only protects the Knight but relieves
the pin as well. Both I P a2—a3 and 1K d2—3 lose be-
cause of I . .. P ¢7—c5. (See also Diagram b on page

57.)

c. IR e2—h2. Protects and relieves the pin. I Kt fl—g3 is
met by 1 ...P g7—gé. If then 2R e2—eé (pinning
the Pawn on the Queen ), Q hé—c1 ch; 3K h1—g2, P g6 X
B h5. Against IR e2—h2, P g7-—g6 is met simply by 2B
h5—f3.

d. I B f5—ed4. This defensive move is also an attacking move,
for it threatens 2 R d5—d7 ch, winning the Queen (which
is pinned by the Bishop when the Rook moves). If the
Queen moves, the Rook attacks it, and the Bishop gives
discovered check at the same time. For example, I . . .
Qcb—eb; 2Rd5—e5disch.Orl ... Qecb—c7; 2Rd5—
d7 dis ch. The King must therefore move: I . . . K b7—
¢7. But then 2R d5—c5/! The Queen is now attacked by
Rook and Bishop, and it is also pinned by the Rook. 2
++.Pbé X Rc5; 3Bed X Q cb.
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Defenses to the pin: by counter-pin
AND now the fifth defense: pin the pinning piece!
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c. WHITE d. WHITE

White always moves first. Solutions on Page 64,

[63]



Solutions to Problems on Page 63
a. I B c2—b3

b. IR h3—hé

¢. The Queen is safe from capture because of the pin of the
Pawn on f2 by the Bishop on d4. However, Black
threatens checkmate on g2 and the capture of the Knight
on a3. Therefore I Q h8—h2 ! pinning the Black Queen,

d. IR fl—el. White threatens, if Black does not get the
King off the e-file, to remove first the Knight and then the
Bishop from the fork of the Pawn on e4. (Not the Bishop
first, for after 2 ... Rd8 X R dl; 3 R el X R dl, the
Pawn on e4 is no longer pinned. )

Thereforel . . . K e8—f7. Then follows 2 Kt f3—e5 ch,
K f7—eé; 3 B d3—c4 ch, K e6 X Kt e5; 4 P f2—f4 matel The
Pawn on e4 cannot capture this Pawn at f3 in passing be-
cause it is still pinned!

Innumerable examples can be given of the uses of the Pin
and the counter-Pin; but we have become so King-conscious
now that we may forget that these attacking maneuvers
can be directed against other pieces as well as the King.
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Forks

iN the diagrams on this and the fnllnwmg pages, we shall
use the Fork and Pm agamst other pieces. Even 2 Hurdle
will work]
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c. WHITE d. WHITE

White always moves first. Solutions on Page 66.
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Solutions to Problems on Page 65

a. 1B g2—d5/ The best Black can do is 1 . . . Kt e6—d4,
winning the Pawn at ¢2. If 2 B d5 X Kt ¢4, Kt d4—f3 ch; 3K
g1—h1/ (not 8 K gl—f1, Kt f£3—d2 ch; nor 3K gl—g2, Kt
f3—el ch).

b. IRb5—b8. Not IRb5—d5,Bd8—fé6orl ... Ktdd—cb
or 1. .. Kt dd—eb.

c¢. 1Kt c5—d7. This illustrates the peculiar powers of the
Knight: The Rook can’t protect the Bishop on b8 or {6,
since it can be captured on either square.

d. The King cannot approach the Bishops. But the way can

be prepared with:

IRe8 X B h8/ Rc8 X Rh8
2K{7—g7! R moves
3K g7 X Bh7
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Pins; hurdles on pieces
PINS or hurdles on the Queen are next in importance to those
on the King, but remember: they can be done on any piece.

d. WHITE

White always moves first. Solutions on Page 68.

[67]



Solutions to Problems on Page 67

a. IR dl1—el. Black’s Queen cannot leave the e-file, as this
would be followed by 2R el X R e8 mate.

b. 1Kt f3—h4 wins the Bishop on b7. (This is the only move
the Knight can make which guards White’s Bishop.)

c. 1B d3—Db5.

d. IRh1I—f1. Ifnow ] ... Rf2XPg2ch; 2Qe2 X R g2,
Bb7 X Qg2; SRfI X Qf8chetc. Orl . . . Rf2 X Q e2;
ORI X Q8 ch, Kg8 X Rf8; 3Rel X Re2.
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Sacrifices based on pin and hurdle

rECOGNITION of the positions on page 67, or similar ones,
is important, for yon can often “sacrifice” material to obtain
them. Caution: Always note carefully the values of the
pieces sacrificed and the pieces gained.

c. WHITE d. WHITE

White always moves first. Solutions on Page 70.
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Solutions to Problems on Page 69

a. (Based on 67¢)
IR cd4 X B ch, Ki €7 X R ¢6; 2B d3—b5 and White will
come out a piece ahead (first he wins the Knight; then he
captures a Rook in return for his Bishop).

b. (Based on 67a)
IRel X Kted!, Qe7 X Red; 2R d1—el wins Queen and
Knight for two Rooks.

c. IRd1 X Bd7
Maintaining the pin by the Bishop at b5.
I.... Rd8 X Rd7
2R h1—d1

d. 1Rh8—d8/ Q dé X R d8
2Q e2—d3 ch!

And White wins Queen for Rook. The sacrifice of the
Rook lures the Queen away from the protection of King and

Rook, making a successful “hurdle” possible.

Often a direct attack upon a pinned piece is not possible.
In such cases, you can prepare to attack the pinned piece a
second time. Such preparatory moves include:

1 Doubling Rooks along a rank or file.

2 A Pawn push.

3 Moving a piece to a square from which it can be moved
to attack the pinned piece.
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Preparing the attack on pinned pieces /
exaMPLES will be more enlightening than stating the xules:

c. ~ WHITE d. WHITE
White always moves first. Solutions on Page 72.
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Solutions to Problems on Page 71

a. IK g3—f4! The King is headed for e5 to attack the
Knight a second time. The only way to prevent 2K f4—e5
is I ... Ke7—16, but this loses the Knight at once,

b. IPe3—e4 P e6—e5
2P f2—f4 K e7—eb
It2 ... Pe5 x Pfd; 3P ed—e5 etc.
3B e2—g4 ch K e6—e7
4P f4 X P e5 etc,

c. 1 Rd1—dé/to be followed by 2R f1—d1 (Black’s King is
kept from eé).

d, 1Kt d2—f3/ K h7—g7
2Pe5—eb! Pf7 X P eb
3 Kt f3—e5

White wins the Bishop. Other Knight maneuvers are too
slow, as they give Black’s King time to reach e7. (The order
of White’s first and second moves can be reversed.)
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Material gain by attack on supporting piece

1 we can't attack a piece directly, we can sometimes attack
the piece which supports it:
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White always moves first. Solutions on Page 74.
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Solutions to Problems on Page 73

a. I B <3—bd4. Black can protect the Knight by I . . . Kg8
—f7, but after 2B b4 X Kt e7, the Bishop at d5 is unpro-
tected.

b. 1P g4—g5.
¢. 1B e2—d3 R gb—g7
2B d3—c4 Kt g5—eb

An attempt to save himself: if 3R g4 X R g7 7, R g8 X R
g7;: 4R g1 X R g7, Kt e6 X R g7.
3B ¢4 X Kt e6! Protecting the Rook at g4.

d I1Qcl—c5ch! K e7—f6

Ifl...Qe5XQc5 2Rel Xe2ch, Ke7—db6; 3P b4 X
Q c5ch and White has won a Rook. Black’s Queen is the
supporting piece. Black cannot play I ... K e7—eé be-
cause of 2D c5—«4 ch forking the King at eé and the Rook
at e2.

2Q c5—f8ch K f6—gb

If2 ... K—eb we have a hurdle: SRel X Re2, Qe5 X
R e2; 4 Q f8—e8 ch etc.

3R el—g1 ch. Suddenly a mating attack appears.

3.... K g6—h5
4Q f8—f7 ch K h5—h4
5Q f7—h7 ch Q e5—h5

6 R g1—h1 ch ete.

We notice how our threats of a winning combination force
the opponent to make moves which open up new opportuni-
ties for combinations of a different character.

We shall now study defenses to pins on pieces. The differ-
ence between these and defenses to pins on a King is: A
piece pinned on a King can never move out of the pinning
line. A piece pinned on some other piece can move out of
that line, although some material loss may be suffered.
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Defenses to pins on pieces: counterattacks on pieces of
equal value

THESE can take the following forms:
1 Anattackona piece of equai value to that whereon it is
pinned; 2 A mating attack; 3 A combination of 1 and 2.
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¢, WHITE d, WHITE

White always moves first. Sclutions on Page 76.
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Solutions to Problems on Page 75

a. IKtdd—ch Bf6 X B b2
2Kt e X Kt e7 ch K g8—f7
3 Kt e7—d5 ete.,

( Another way to release the pin was I B b2—c83, P c7—c5;
2Kt d4—e2 etc.)

b. 1Kted X Pcé
Not 1 P f2—f4 P, P f7—£6; 2 Q e2—c4 ch, B c8—e6.

I.... Re8 X Qe2
2Ktcd X Qa5

¢. IRd1l—al
Not I R d1—d4 7, Kt e3—F5 ch.
I.... B a5—<c3
2R al—a8 ch

d. I Ktd3—e5 Rd7 x Rd2
2Kt e5—c4 ch K b6—b5
3Kt cd X Rd?2
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Defenses to pins on pieces: counferattacks by means
of mate threats

THE pinned piece may also move with a mating threat:

c. WHITE d, WHITE

White always moves first. Solutions on Page 78.
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Solutions to Problems on Page 77

a. 1 Q e3—d4 threatens mate at g7. When Black defends the
mate, the Bishop at e4 moves away. It is no longer
pinned.

b. 1Q d2—e3
Threatens 2 Q e3—e8 ch, Rd8 X Q e8; 3R e2 X R e8 mate,
1 B c8—ab

Defends the mate, leaving the White Bishop and Rook
attacked.

2B d4—e5 Q c7—cb
3R e2—el R d8—e8
4Q e3—g3

With a mate threat on g7.

4, ... P f7—f6
5B e5—c3

¢c. 1Qb4—db6/sothatifl ... QbdXKtb57; 2Q d6—d8
ch. The try 1 Q b4—h4 (threatening Q h4—h6—g7 mate)
fails because of 1 ... P cbd X Ki b5; 2Q h4—hé, Q bé X
P f6.

d. Black is threatening liquidation of all the pieces on 3:
IQcl—d1P,Rf8 X Ktf3; 2Rg3 X R3, Q6 X Rf3ch; 3
Qdl X Qf3, Bb5—cé!

Or if 1Q c1—e37, R 8 X Kt 13; 2Q e3—d4 ch, R $3—$6
dis ch! (not 2...D c6—677; 3R g8 X R 3 and the
Queen at {6 is pinned by the protected Queen at d4). The
discovered check also defeats the move I P ¢3—c4, R 8 X Kt
f3; 2Q c1—b2 ch, R f3—F6 dis ch; 3K h1—gl, Q c6—<5 ch
etc.

The correct move is the triple threat I Q ¢1—g5/! The
immediate threat is 2 Q g5—g7 mate. The secondary mate
threats are on g8 (in case Black’s Rook leaves the last rank),
or on e5, in the event that the Black Rook or Queen loses
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contact with the square f6. The veiled threat is 2Q g5 X B
b5inreplytoI...Deé6—f6orl... Qcb—gborl...
Dcbé X Pe3. Black is helpless, but he has one more
desperate try left: I . .. Q<6 X Kt f3ch!; 2R g3 X Q f3,
B b5—c6 ! It seems that he now wins the Rook, with some
threats of his own. But White has a punch or two left: 3
Q g5—e5ch, K h8—g8; 4Q e5—eb6ch, K g8—h8 (if 4 . . .
Kg8—g7;5Qe6—e7chand 6D e7 X Rf8ch); 5Q e6 X B
c6!,Pb7 X Qcb; 6RE3 X R18 ch.

We are now going to leave the realm of combination a
while, in order to explain how to turn the most minute ad-
vantage to account.
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The Pawn

THE lowest-valued individual piece is the Pawn. Yet when a
Pawn reaches the cight rank, it has the highest potential
value of any piece; for not only can it become a Queen, but
it has the choice of becoming any other piece ( except a
King, of course!). The value of this will become apparent
later on,

The first important feature to recognize is a Passed Pawn.,
This is a Pawn which has no opposing Pawn in front of it or
on the adjacent files. Thus, a Pawn on the c-file is passed
when there is no opposing Pawn on the b, ¢ and d files in
front of it. A Passed Pawn must usually be supported by the
King in the ending. (In fact, we should take time to explain
that as the heavier pieces disappear from the board, the
King becomes more and more powerful, and should be used
with increasing frequency.)

Our first theory about a Passed Pawn is the statement
Passed Pawns must be pushed. But not recklessly; we must
count the number of moves it takes to get to the eighth
rank. If the opposing King takes two more moves to reach
that square, we should push the Pawn. If the opposing King
takes less than two moves to reach the crucial square, we
must use the King to support the Passed Pawn. (Note: if
we move first, only one extra move is sufficient to ensure
the queening of the Pawn.)
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' The Passed Pawn

BLACK

c. WHITE d. WHITE

White always moves first. Solutions on Page 82.
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Solutions to Problems on Page 81
a. 1P a2—a4

White requires only five moves for queening, Black’s King
needs 7 moves to reach the queening square (and White
moves first!)

b. 1P ed4—e5

White needs only 4 moves, Black nceds 5; and White
moves first. The Pawn at <6 blocks the direct route for
Black’s King, costing him an extra move,

¢. I P h5—hé (wins because Black’s King is cut off from
£7), K e8—18; 2 P h6—h7 wins.
But both I P h5 X P g6 and 1K f6 X P g6 only draw!

d. 1P d5—dé! K a8—b7 !
2P d6—d7! Kt ¢c7—eb
3Ke5 X Kt eb K b7—-c7
4 K e6—e7 and
5 P d7—d8(Q)

Note that Knight moves fail: I . . . Kt <7—aé (or 1 . . .
Kt ¢7—b5; 2P d6—d7, Kt b5—aT7; 8P d7—d8(Q) ch); 2P
dé6—d7, Kt aé—b4; 3P d7—d8(Q) check! Again, if 1P d5—
dé !/, Kt c7—aé; 2 P d6—d7, Kt a6—b8; S P d7—d8(Q) and the
Knight cannot fork, as he is pinned.

The next question which comes to mind is: If I don’t have
a Passed Pawn, how do I get one? The following rules will
help:

1 See where you have a majority of Pawns,

2 First push the one which has no Pawn in front of it
until it is one square from contact with the opposing
Pawn.

3 Push the Pawn next to it.

4 Obtain contact (diagonally).

5 Watch out for the opposing King!
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Obtaining a Passed Pawn
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White always moves first. Solutions on Page 84,
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Solutions to Problems on Page 83

a IPa2—ad] P b4 X P a3 (en passant)

2P b2 X P a3

Can Black’s King catch the White Pawn? Count: 7 moves
to 5. Nol

b. I Kel—e4
It would be foolish to exchange Pawns while the Black
King is near enough to gobble up the remaining one.

I.... K c5—dé
2K ed—d4 K d6—cé

S K d4—e5 K cb6—c5
4K e5—eb K ¢5—d4
5K e6—dé K d4—c3
6P b3—b4! K ¢3—b3

7 Kdé—c5 Kb3 X P a3
SKc5 X Pb5

The extra Pawn here acts as a protection while the King
does the work.

¢. IPa2—ad P b4 X P a3 (en passant)
2P b2—b4!
With a clear path ahead.
d. IPc5—ch Pb7 X Pcb
2P bh—bé Pa7 X Pbé
3P a5—ab

The Black King is now blocked by his Pawns from reach-

ing b7 in time,
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Obtaining a Passed Pawn

BLACK

c. WHITE d. WHITE
- White always moves first. Solutions on Page 86.
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Solutions to Problems on Page 85

d. 1P c3—cd P ab—a5
2P b2—b4 Pa5 X P b4
3P a3 X P b4 K {7—qg7
4P c4—c5 Pbbé X Pc5
SPb4d XPc5 K g7—17
6 P c5—cb K{f7—eé
7Kg5 X Pgb

And White wins by queening the h-Pawn after he cap-
tures the Pawn on h5.

b. IP a3—a4! |

The two White Pawns hold the three Black ones, and then
White moves his King over to capture the Black Pawns.
(You prevent Black from bringing his Pawns to a level.)
c. IPe5—cb! Pb7 XPcé

2Pb5 X Pub

Get your Passed Pawn as far from the opposing King as
possible.

d. 1P h5—hé Pg7 X Phé
2P g5—gé! P h6—h5
3P gb—qg7 ch K h§—h7
4P g7—g8(Q) ch K h7—hé
5 K f8—17 P h5—h4
6 Q g8—géb mate

In the previous examples we have seen how the King sup-
ports a Passed Pawn. We have also seen one of the other
uses of a Passed Pawn: to keep the opposing King busy
while our King captures the opponent’s Pawns.

In an ending with only Kings and Pawns, a player has an
advantage when he has or can obtain a Passed Pawn furthest
away from the other Pawns.
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The outside Passed Pawn

BLACK

C. WHITE d. WHITE
White always moves first. Solutions on Page 88.
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Solutions to Problems on Page 87

a. IPc2 x Kt b3/ P d6—d5 ch
2K ed—d4 K e6—dé
3P a2—a4! K d6—eé
4 P b3—b4 K eé6—dé
5P ad—ad Pb6 X Pa)
6P b4 XPabd K dé6—ch
7 P a5—ab K cé6—bé
8K d4 X Pd5 Kbs XPab

9K d5-—e6é winning the g and h-Pawns.

b. A tricky example:

IP ad4d—a5! K f5—eé

2P b4—b5! K e6—dé

If 2...P aé6XxP b5 3P a5—aé and White’s Passed
Pawn can’t be stopped.

3P b5—bé6 !

Now the Passed Pawn is protected b}f the Pawn at o5.
The White King will proceed to capture the f and g-Pawns
and queen his f-Pawn.

Looking at the diagram, you may wonder: why can’t

White play IP bd—b5, P a6 X b5; 2P a4—a5 . . . P The
answer is that Black now has a Passed Pawn as well, and
he counters with 2 . . . P b5—b4, queening immediately
after White, but with a check!
c. IKcd—d5! K moves

2K d5 X P e5 etc.
d. IKc5—dé/ K g4—f4

2K d6—d5 ! and wins
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King and Pawn vs. King
THIS is a basic ending which every p]ayer must know per-
fectly. Its main principles are:
1 When attacking, keep your King in front of your Pawn.
2 When defending, keep your King in front of the enemy’s
Pawn or King—whichever is more advanced,
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White always moves first. Solutions on Page 90,
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Solutions to Problems on Page 89

a. 1K f6—gé6! Kg8—h8 4Pgé—g7ch K h8—h7
2K gb—i7 Kh8—h7 5P g7—g8(Q)ch K h7—hé
3Pg5—gbch Kh7—h8 6 Q g8—gé mate

Note, however, that 1P g5—gé? only draws: 1 ... K
g8—f8; 2 P g6—g7 ch, K f8—g8; 3 K f6—gé Stalemate!

b. 1K c2—c1/ K ¢c4—b3
2K ¢1—b1 Pec3—c2ch
3K bl—¢1 K b3—c3

Stalematel (Figure out how I X ¢2—bl? or 1K ¢2—d1?
loses. )

¢. The main idea is to oppose the other King (see how this
is done in a and b). So:

IKe3—d3/ P e5—ed ch
2K d3—e3 K d5—e5
3K e3—e2
Getting in front of the Pawn.
3.... K e5—d4 (or f4)
4K e2—d2 (or £2) Ped—e3ch
5K d2—e2 K d4—ed
6K e2—el /!
White draws,
d. 1K e3—f4/ Kfé X Peb
2K f4—ed !/ K e6—f6 (or d6)

3K ed—f4 (or d4)

White draws: if the Pawn moves, he plays as in .

When the Kings face each other with one square between
them, they are said to be in “opposition.” The opposition
can be obtained on rank, file or diagonal, and knowledge of
it is valuable for the ending.
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The opposition

IN Diagram d, White does not make just any move, but plays
purposefully to get the “opposition” after Black captures his
Pawn. In all the following, keep that principle in mind.

- BLACK BLACK

c. WHITE d. WHITE
White always moves first. Solutions on Page 92.
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Solutions to Problems on Page 91

g. TKe3—d4d Kdé—cb 3 K e5—d5 K d7—c7

2Kdd4d—e5 K cb—d7 4 K d5—c§, winning the b-
Pawn

b. 1K f2—e3 Ke7—eb 7 P b4—b5 K hd--g4

2Ke3—ed4d Keb—dé 8 P b5—bé P h5—h4

SKed—d4! K d6—eb 9P bé—b7 P h4—h3

4K dd—c5 K e6—15 10 P b7—b8(Q) P h3—h2
5Kc5 X Pb5 K f5—g4 11 Qb8—b7

6K b5—c¢5 KgdXPh4 and wins
. IKbd—c4! K gi—13 3K d3—d2! Kf{d X Ped
2K c4—d3 Ki3—f4 4K d2—e? and draws
(The opposition is kept on every move.)
d. 1P d4—d5ch! PebXdsch
2K ed—d4 K eb—e7
3K d4 X Pd5 K e7—d7
4P c5—<bch K d7—c7
5 K d5—c5 K moves

6 K c5 X P b5 and wins
Before the first move, Black had the opposition. The Pawn
sacrifice forces a position where Black has to move and
wherein he cannot continue to hold the opposition by
. K—cé.

In positions where an opponent must give way because he
has to move (as in Diagram d, page 91), he is said to be in
Zugzwang. Sometimes Zugzwang is an advantage (as for
example, in the case of Stalemate). As a rule, however,
Zugzwang is disadvantageous. Here is how it works in Pawn
endings:
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Zugzwang
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- White always moves first. Solutions on Page 94.
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Solutions to Problems on Page 93

a. 1K a5—ab!
And not I K a5—bé PP stalemate!
1.... K b8—c7
2K a6—a7 and wins ,
b. Even the opposition fails against Zugzwang:
1P b5—bé K a8—b8
2P b6—b7 etc.

Winning as above

c. 1P b4—b5! Kd7—c7 4 K d6—d7 K ¢8—b8
2Kd5—e6 K c7—c8 SK d7—<cé K b8—a7
3Kd5—dé K c8—b7 6 K ¢c6—c7 winning the

Pawns

Note that I P b4 X P a5 ?? draws—a Rook Pawn cannot win

if the opposing King is in front of it. Try it!

d. IPb4d X Pa5 Pbé X Pa5
2 K eb—dé ete.
But 1 P b4—b5 PP would produce Stalemate!
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Sacrifices to queen a Pawn

so valuable is a Pawn which is advancing to queen, that
all kinds of sacrifices can be made to assure its promotion.

These sacrifices entail consideration of (1) the power of
the defending pieces; (2) the position of one’s own King.

BLACK BLACK

c. WHITE d. WHITE
White always moves first. Solutions on Page 96.
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Solutions to Problems on Page 95
o. 1 Pb5—bé Pa7 X Pbé

2P a5—ab

And the Pawn can no longer be stopped. Black may
therefore try:

l.... B e1—f2
If1...Bel XPa52PbéX P a7 and the Pawn queens.
9P b6—b7 ! B £2—g1

So that if 3 P b7—b8(Q), B g1—h2 ch.
3K f4—g3 ! and wins,

b. IKtf5 x Pg7! Kt e8 X Kt g7

2P h5—hé!

The Pawn cannot be stopped.

Remove the Pawn on e5, and Black’s answer to I Kt 5 X
Pg7isI .. . Kte8—16.

¢. IRdA7 X Pe7 Re8 X Re7 4Peb—e7 Rd8 X Pd7
2P d5—dé6 Re7-—e8 5P e7—e8(Q)
3Pd6—d7 R e8—d8

d. IPg5—g6 Ph7 XPgbch4Kg7xXxBg8 P g5—g4
2K f5—¥6! B d5—g8 S P h6—h7 P g4—g3
3K f6—g7 P gb—g5 6 P h7—h8(Q) ch ete.
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Stopping a Passed Pawn with a Rook

#ow can we defend against Passed Pawns? The simplest
way is to cover a square which the Pawn must pass.

The best position for a Rook is behind the Pawn; but
sometimes it must defend from side or front.

mimi

c. WHITE d. WHITE
White always moves first. Solutions on Page 98.
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Solutions to Problems on Page 97

a. IR ¢7—g7 ! wins, whereas Rook to any other square per-
mits Black’s King to get to f2 to support the Pawn’s
queening,

b. IRa5%—a3 P h3—h2
2R a3—h3 ch

c. IRf8—a8 P d4—d3
2R a8—a2 B 3—dl

3 R a2—d2 etc.

Note that I R f8—h8 stops the Pawn only at the expense
of losing the Rook: I . .. P d4—d3; 2R h8—h2, B f3—e2 !/
d. IRa5—a7! K g5—f6 6Re2—edch K f4—i3

2Ra7—al K {6xPf5 7RedXPd4d P gd—g3

3Ral—gl K f5—H4 8 R d4—d8 P g3—g2
4Rgl XPg2 Pg7—g5 9 R d8—g8 etc.

ORg2—e2 Pg5—g4

IR a5—al does not win: the reply is I . . . K g5—f4/

The gain of one move through the threat of the hurdle
check after I R a5—a7, P g2—g1{Q); 2R a7 X P g7 ch is the
margin of victory.

Now for some examples of other pieces vs. the Passed
Pawn. The problem is complicated by the fact that there
are two Pawns to stop.

The Queen has more defensive latitude than the Rook,
since it can also defend on a diagonal. On the other hand,
the Bishop and Knight are more limited in choice of de-
fensive terrain.
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Stopping a Passed Pawn with other pieces
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White always moves first. Solutions on Page 100.
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Solutions to Problems on Page 99
a. IB cd—d5 K f6—e5
2B d5—f3 K e5—d4
3K ¢2—d2 and draws
Butnot 1B ¢c4—f1P when I ... P f&—3 wins.

b. IR a8—g8. The advanced Pawn must be stopped from
the rear. IR a8—f8 ? loses because of 1 . . . P g3—g2.
IR a8—al or I R a8—a2 loses after I. . . P f4—if3.

c. 1K c8—d7 P f4—f3
2Kt d5—e3
Threatening to capture the g-Pawn if it advances.
. P f3—f2
3 K d7—eb P g5—g4

4Kt e3—f1 ! and draws
The Pawns are now stopped, and the King can gobble
them up. (This is an actual ending from master play.)

d. How to stop the Pawn from becoming a Queen? It seems
easy, since the Queen can easily come to the first rank.
But if Black’s King reaches g2, the game is a draw!
Whenever the Queen checks the Black King, he goes
(from g2) to g1; if checked on the g-file, he must go to
h1—whereupon, if White’s King tries to approach, it is
Stalematel!

Knowing that we must guard g2 and hl1, we find the
square easily: 1D a2—d5/, K g3—2; 2Q d5—h1 and now
White’s King can approach.

We now come to an interesting topic: Pawns do not have
to become Queens when they reach the eighth rank; they
can become Bishops or Rooks or Knights. But why take a
piece of lesser value? There are two main reasons: (1) Dif-
terent movement is needed (hence a Knight); (2) avoidance
of Stalemate (hence Rook or Bishop).
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Underpromotion
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White always moves first. Solutions on Page 102.
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Solutions to Problems on Page 101

a. 1P e7—e8(Kt) ch winning the Queen and thus forcing the
draw. If I P e7—e8(Q) ?, @ g7—al ch; mate next move.

b. I P g7—g8 (R), mating in five more moves. Not 1P g7—
g8(Q) ? P Stalemate!

c. IP g7—g8(K)mate. (Not I P g7—g8(Q) P2, P d2—dl
(Q) ch; 2K gl—h2, Q dl—hl ch; 3K h2 X Q hl, Stale-
mate!)

d. IPe7—e8(Kt) Ktc8 X Pa7 3Kt e8—dé K a7—b8
2Pb6 X Kta7 Ka8 X Pa7 4K a5—hé winning
the Pawns

Of course, I P e7—e8(Q) or 1 P e7—e8(R) would be Stale-
mate. I P e7—e8(B) would also lead to no more than a draw:
I...Ktc8—e7; 2B e8—d7, Kt e7—c8; 3K a5—b4 (if SB
d7 X Kt c8 we have a Stalemate position, or if 3B d7 X P
c6, P b7 X B ¢6; 4K a5—a6, Kt ¢8 X P a7; 5P b6 x Kt a7
again with Stalemate), Kt ¢8—e7; 4K bd—c4, Kt e7—8;
5K c4—d4, Kt <8 X P a7; 6P bé X Kt a7, K a8 X P a7 fol-
lowed by . . . P b7—bé liquidating White’s last Pawn.

There are many aspects to the endgame, and we recom-
mend that the reader see the following books for future
study:

Mason: THE ART OF cHEss (new edition revised by Reinfeld
and Bernstein )

Reinfeld: PRACTICAL ENDGAME PLAY

Fine: BASIC CHESS ENDINGS

Also the sections on that topic in books by Lasker ( Emanuel
and Edward), Capablanca, Alekhine, etc.

The best way to make a study of endgames is through
the playing over of master games, for there the best players
are confronted with practical situations and are forced to
solve them,
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The Opening

It 15 NoT OUR INTENTION TO CIVE A GREAT AMOUNT OF STUDY
to openings, for whole volumes have beén written on that
subject alone. For the beginning player, the following gen-
eral rules will help:

1 Develop a different piece on every move.

2 Develop your pieces toward the center (the squares
d4, d5, e4, e5).

3 Try to control a specific line in the center.

4 Try to control a specific point on that line.

5 Do not allow your opponent to get complete control of
any line.

6 Make as few Pawn moves as are necessary.

Following are typical opening positions. Let’s see how
the above ideas are carried out:

Ruy Lopez

1 P—ed P—e5
2 Ki—f3 Kt—cé
3 B—b5 P—dé
4 p—d4 B—d7
5 Kt—c3 Kt—+6
6 O—-0 B—e7

(see next diagram)
7 R—el
Or7B X KtcB,B X Bc6; 8

Q—ds. Both lines pave the way for
7... P X Pd4 the development of the Rooks.
Forced. What line is White controlling?
8 Kt X Pd4 For which one is he fighting?
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Giuoco Piano
[Quiet Game]

I P—e4d P—e5
2 Ki+—f3 Kt—cé
3 B—c4 B—c5
4 P—d3 Kt—f6
5 Kt—c3 P—dé
6 O—O o—0

8 Kt—d5

Or 8 B—b3 maintaining the
status quo.

8.... B X Kt d5
9 BxBd5 P—hé
10 BXKtf6 Q X Bfé
I1 P—<c3

Scotch Game

I P—e4d P—e5
2 Ki—f13 Kt—cé
3 P—d4 PXxPd4

4 Kt X Pd4 B—c5

5 B—e3 Q—f6
Best.

6 P—c3 Kt g8—e7
7 B—c4d O—0

8§ O—0O P—bé

The game is about even.
Another wvariation of the
Scotch Game:

I P—ed P—e5
2 Kt—13 Kt—cé
3 P—d4 Px Pd4
4 Kt X Pd4 Ki—f6
5 Kt—<c3 P—d5

(see next diagram)

6 Kt X Ktcé P X Ktcb
7 PXPd5 PXPd5
8 B—d3
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The important square is e4.
Perhaps all these moves are
a bit puzzling, even with the
explanation in advance. Let’s
go over one of them in detail:

Scotch Game
1 P—e4 P—e5
2 Kt—+3 Ki—cé
3 P—d4

Not3...P—d6P 4P X
Pe5,PXPe55Q X Qd8ch,
K X Q d8 and Black cannot
castle,

4 Kt X Pd4 B—c5

Protects the center, and en-
tails a threat: 6 Kt X Xt 6, P

X Kt c6 (the Queen was at-
tacked); 7 B X B ¢5 winning a
piece.

S.... Q—F6

Unusual, since the Queen is
kept back mnormally. But it
forces White’s reply, since the
Knight is again attacked.

(see next diagram)
6 P—c3

White must protect his
Knight. If 6 Kt X Kt ¢8 P, B X

Bed: 7P X Be3, P47 X ¢b6

and White’s Pawn position is
ruined.
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Also, White’s last move
shows why § ... Q—f6 is
safe. The piece most likely to
chase her away (a Knight from
d5), is prevented from going to
d5 via ¢3. Of course Black
must not exchange either, be-
cause then he (1) creates stron
center Pawns for White ang
(2) reopens ¢8 for the Knight.

6 & ¥ & @ Kt gﬂ—-&?
7 B—cd 0—o0O
(Why can’t Black win a

Pawn by 7 ...Q—g6 ... ?)
8 0—O

(see next diagram)

8.... P—bé

The Bishop at ¢5 is now pro-
tected by a Pawn which can
recapture toward the center.
(Figure outhow 8 . . . P—d6
insteadof 8 . . . P—b6 would

change the Black Pawn posi-

tion.) For the continuation in
this position, see page 104.

Two more King’s Pawn open-
ings will now be taken up in
detail. It is easy to see why the
next one is called the Four
Knights” Opening,

Four Knights' Opening

1 P—e4 P—e5
2 K+—f£3 Kt~—c6
3 Kt—<3 Kt+—fé
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4 B—b5

4 P—d4 changes the open-
ing to a Scotch Game (see

page 104).
4.... B—b4
5 O0—0 O—0O
6 P—d3 P—dé
7 B——gS

7.... B X Kitc3!

The threat was 8 Kt+—d5,
whereby White would create a
breach in Black’s King’s posi-
tion by exchanging on {6.

Even if Black could do the
same on £3, the fact that White
moves first puts the attack in

his hands.

8PXBc3 Q—e7
9 R—el Ki—d8
10 P—d4!

Since Black’s “black™ Bish
{(the one on the black squar?)’

is pone, White attacks the
black squares.

10 ., ... Ki—eb

Relieves the pin without
weakening the King-side.

11 B—c1/!

Preparing to return to the
attack on another diagonal
{a3—f8).

i1 .... P—ch
12 B—1

Out of the way, the Bishop
can return later or seek a new
diagonal also (after P—g3 and
B—g2).

2 .... Q—-c7

What now?

(1) White must complete
the development of his Queen,
Rook at al and Bishop at cl.

{(2) He must continue to
hamper a Black advance in the
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center (. . . P—d5) by con-
trolling e5.

(3) He should not exchange
on e5 because he will fatally
damage his position on the
Queen-side.

As for Black:

(1) He must complete the
development of his Bishop at
c8 and the Rooks at a8 and f8.

(2) He must not exchange on
d4 because he will strengthen
White’s position, and weaken
his own,

(3) He should try to force
White to play P X e5 or P—d5
by a timely advance of the
Pawn at c6 to c5.

Thus we see that both play-
ers are trying to control the
center, and a specific line or
square in the center.

The next opening is called
the Ruy Lopez, after a famous
Spanish chess player of that
name.

It is considered the strong-
est opening for White after
I P—ed, so that we shall give
one part of it in detail and then
show several variations of it.

Ruy Lopex
[MGrph}r Variation]
1 P—e4

2 K1—13 Kt—cé
3 B—b5 P—aé& !

Idea of 3B—Db5; 4B x Kt

P—e5

¢b and 5 Kt X P e5, This can-
not be done immediately, be-
cause of 4 , . . Pd7 X B c6;
3 Kt X P 5, Q—d4! But it is
the constant threat, and Black’s
play always depends on it.

4 B—a4!

Keeping the threat—and the
Bishop!

4.,... Kt—fé [

Defense by counterattack
against the Pawn at e4.

1 }
n
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5 0—0!

The Rook will get into ac-
tion early on the e file. Now
there are several defenses for
Black. In this opening, we
shall treat 5 . . . B—e7. Later
on, we shall see the conse-
guencesofS...KtxPeli;

v .P—bS and 6, .. P—
dé; 5...B—cb.

5....
8 R—el

B—e7

B, P—b5

Forced; to protect the P at
e5, now attacked since the

Pawn at e4 is protected

7 B—b3 P—dé
8 P—c3 Kt—a5
9 B—<c2 P—c5
10 P—d4 Q—c7

The scene has now shifted
to the squares d4 and e5.

White seeks to keep his center
intact; but so does Black. If
White exchanges, he opens the
d file for Black and relieves
pressure; if he pushes P—d5,
he blocks his Bishop at ¢2, and
allows Black to get his pieces
into action gradually. First
White must play I1IP—h3!
stopping . . . B—g4 and the
indirect attack on d4. What
then?

White (1) must complete his
development by bringing his
Knight from b1l to g3 or e3 via
d2 and f1; his Bishop at ¢l to
g5 or even b2; his Queen to
e2; his Rook from al to d1 or
according to the following
plan:

(2) can block the center with
P—d5 and start a King-side at-

tack (when the Knight gets to

f1 from bl) by P—g4, K—h2,
Kt—g3—f5 ete,

(3) can exchange on €5 and
try to get quick control of the d
file, particularly of d5. In that
case, he plays his Bishop from
cl to g5, exchanges it for the
Knight at 16, and develops his
Knight from f1 to e3.

Black (after 11 . . . O—0)
forces White to declare him-
self by . . . Kt—c8B. If White
replies P-—d5, Black plays . ..
Kt—d8, and then defends by

... Kt—e8, ... P—gb,
Kt—g7, . . . P—46 and

L I
L [ ] L]
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Kt—f7, This seems long and
tedious, but in a blocked po-
sition, the forces clash more
slowly. The Bishop at c8 goes
modestly to d7 (with an eye on
£5, where White may try to
plant a Knight), and the Rooks
seek an open line on the ¢ or
b files. A long hard game is in

pmsgect.

Black has other, more open
defenses that he can try. We
can see them below:

[Variation A]

I P—ed P—e5

2 K+—f3 Kt—cé

3 B—b5s P—ab

4 B—ad Kt—fé

5 0—0 Kt X Ped
6 P—d4! P—b5!
7 B—b3 P—d5f
8 PXPe5s B—eb

9 Kt b1—d2 B—e7
10 Q—e2 Kt—c5

[Variation B]

1 P—ed P—e5
2 Ki—f3 Kt—cé
3 B—b5 P—ab
4 B—ad Kt—f6
5 0—0 P—b5
6 B—b3 P—dé
7 P—c3

If 7 Kt—g5, P—d5 [; 8P X

P d5, Kt—d4!

7.... B—g4
8§ P—h3 B—h5
9 Q—e2

White must proceed more
slowly: R—d1 and P—d4 are
his goals; but he may have to
play P—d3 first, if Black plays
. ++ Kt—a5 and . . . P—c5.

[Variation C]

I P—e4
2 K—if3

P—e5
Kt—cé
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3 B—bb P—aé
4 B—a4 K+—fé
5 0—O B—<c5
6 P—<3 B—a7
7 P—d4 Kt X Ped
8 Q—e2 P—f5

9 Ktb1—d2 O—0
10 Kt X Kted P X Kted
II QX Ped P—d5

12 B—b3! B—eb!

Why can’t Black take the
Queen?

18 Q—e3

Yy
—e2 here?

What are White's threats?
Black’s? What is Black’s next

mover

[Variation D]

1 P—ed P—e5
2 Kt+—43 Kt—cb

3 B—b5 P—ab
4 B—ad Ki—fé
5 0—0 B—e7
6 R—el P—b5
7 B—b3 0—0
8 P—c3 P—d5

9PXPd5 KixPd5
10 Kt X Pe5 KiX Kteb
1l RX Kte5 B—b7

Black has sacrificed a Pawn
for rapid development. He can
soon gain possession of the
King’s file with his Rooks and
start an attack against the
White King. Recently players
have tried 8 P—d3 to avoid
this line. (See why it does.)

Other openings starting with
I P—ed, P—e5 follow. Some
of them are gambits, a term
used to mean a sacrifice of ma-
terial. The usual gambit gives
up a Pawn for the sake of lur-
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ing a d-Pawn or an e-Pawn
from the center.

King's Gambit

1 P—ed P—e5
2 p—f4 PxPf4
3 Kt—13 P—g5
4 B—c4 B—g7
5 P—d4
EALES AX

2141t

ES- By FY
b o L
i * ﬁ F - ,.- r e r

"

White has a free, open game
and easy develc}pmant for his
Pawn.

King's Gambit Declined

1 P—e4 P—e5

2 P—f4 B—=c5

3 Ki—f3

If 3P X P e5?, Q—h4 ch.
g.... P—dé&

4 B—c4 Kt-—cé

5 Kt—c3 P—ab

To preserve the Bishop from

exchange in the event of
White's playing Kt—a4.

6 P—d3 Kt—fé

7 Q—e2

FUTY T

Try

1%%f?
N 3T

WO A

bl o ﬁ___,.-

Falkbeer Counter Gambit

I P—ed P—e5

2 P—f4 P—d5
SPXPds P—ed

4 P—d3 Ki—f4

5 Kt—d2 P x Pd3
6 BXPd3 KtxPds
7 Kt—c4

Not 7Kt—e2?P?, Kt—e3!
winning the White Queen.

(see next diagram)

Vienna Game

I P—ed
2 K$—c3

P—e5
Ki—{f&
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S8PXPf6 BXPfé

(e.p.)
9 0—-0 Kt—cb

As in the Ruy Lopez, Black
defends by counterattack:
White can win a Pawn by
twice capturing on e5, but he
loses his Pawn on d4.

3 P—f4 P—d5
4PXPe5 KtXPed
5 Kt—f3 B—e7
6 P—d4 o—0
7 B—d3 P—f£5
Necessary reinforcement.

In answer to I P—e4, Black does not have toreply . . . P
—e5. In fact, many modern players avoid that move, be-
cause it allows White to steer the game into channels with
which he is familiar.

The most common “defenses” are I . , . P—eé (French);
I ... P—c5 (Sicilian); and I . . . P—cé (Caro-Kann). De-
tailed analyses of each follow: :

French Defense At first the fight is for the

line e4—d5. Black keeps in

; :j: :::ﬁ hand his counter . . . PP—S-QE.

y This is the natural freeing

3 Ki—<3 Kt—f6 move in almost all forms of the
4 B—g5 B—e7 French Defense.
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the long diagonal (h1—a8) be-
cause Black is forced to open
the center in order to get his
pieces, especially the Bishop at
c8, into action.

10....
11 0—0—0

The importance of develop-
ing quickly, in order to control
the center, makes White risk
this castling. His King is safe
so long as the Bishop at ¢8
blocks 2 Rook attack on the
c-file.

Kt—bé

11.... 0—0O
12 B—g2 Kt—c4
13 Q—f2

13 .... P—t6!

The only chance for counter-
play.

I4PXPf6 QXPf6

I5 Rh1—el!

The idea is to hold back the
Black forces from the black
squares (“Restraint”). If White
had played instead ISP X P
¢5 P, Black would have im-
mediately continued . . . P—
b6!; 16 P X P b6, R—b8. Th
scene changes, and White
must now end an attack
against his King. By consist-
ently playing for the idea of
the opening (restraint of the
Black Pawns €6 and d5), White
is able to avoid all traps.

More wvariations of
French Defense follow.

the

[Variation A]

1 P—e4 P—eé
2 P—d4 P—d5
3 Kt—d2

Protecting the Pawn at e4
without blocking the c-Pawn.

34-1-1 P——Es
4PXPdS PXPd5

If4...Q X P d5 White
is ready to sacrifice a Pawn for

rapid development: 5 Kt gl—
£3, P X P d5; 6 B—c4, Q—d8;
7 O—O with fine prospects of
regaining his Pawn by Kt—b3.
5 B—b5ch Ki—c6
6 Kt g1—13

(see next diagram)
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| Variation B]

I P—ed P—eb

2 P—d4 P—d5

3 Kt—d2 Kt—f6

4 P—e5 Kt f6—d7
5 B—d3 P—c5

6 P—c3 Ki—c6

7 Kt—e2 Q—bé

8 Ki—f3 PP d4
9P XPd4d B—bdch
10 K—f1!

Everything is sacrificed in
order to hold the Pawns on d4
and e3: time in developing
the Knights, and now even
castling (eventually the King
will get out at g2). The Bishop
at cl is developed to b2, free-
ing the Knights, and then a
King-side or Queen-side attack
is started. We owe this idea
and the next variation to the
great Danish player Nimzo-

vich, whose theory of restraint
of the center squares was one
of the great contributions to
the modern understanding of
chess.

Roohiw, B
22 a 131
Al i
W ErE
W mom
N
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| Variation C]

7
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I P—ed4 P—eb
2 P—d4 P—d5
3 Kt—c3 B— b4

Again Nimzovich. Why let
White gain time by P—e5
... P

4 P—e5
5 P—a3

P—c5

Paying the piper. Black
must give up his “good”
Bishop—the one on different
colored squares from his
Pawns. But he has corapensa-

tion in the doubled White
Pawns.

5.... B X Ktc3ch
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6 PXBeld Kt—e7
7 P—a4/

Idea: B—a8, on those weak
black squares. Second idea: to
prevent Black’s maneuver . . .
Q—a5—a4 with a Queen-side
blockade.

[McCutcheon Variation]

I P—e4 P—eé

2 P—d4 P—d5

3 Kt—=c3 Kt—fé

4 B—g5 B—b4

5 P—e5 P—hé

6 PXKtf6 P X Bgh
7PXPg7 R—g8

8 P—h4 PXPh4
9 Q—g4d Q16
JORXPh4d QXPg7

This concludes our study of
the French Defense.

Sicilian Defense

The Sicilian Defense is well
liked by many players because
it is a battle on a wide front.
White tries to hold the center
and attack on the King-side;
but in doing so, he is forced to
open his own King’s position.
Black is slow to commit him-
self in the center. But if
White’s attack accelerates,
Black must open up sooner
than he wants. The result is an
exciting battle where neither
side can afford to waste a
single move toward the com-
pletion of his plan.

1 P—e4 P—c5
2 K—f3  P—eb
3 P—d4 P X Pd4
4 Kt X Pd4
An important position in this
opening,
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4....

Absolutely necessag to pre-
vent 5 P—c4, which would

give White too firm a hold on
the center.

5 Kt—c3 P—dé

The threat was 6 P—eb.
Now White pounds at d5.

6 B—e2
7 P—f4

Ki—f6 !

P—ab

Q—<7

This is the Paulsen Varia-
tion, and has been chosen to
show the Sicilian in its most
extreme form.

8 B—f3 B—e7

Black makes no effort for the
moment to counter White's

hold on d5.

9 O—0 Kt—c6
I0 B—e3 B—d7

11 Q—el!

White must now pursue his
King-side attack. He must also
develop the Rook at al. The
Queen move makes way for
the Rook on d1. Why? Black’s
plan is ... Kt—aS—cd, It
will then attack both the
Bishop at e3 and the Pawn at
b2. The Bishop can retreat to
cl to protect the Pawn—but
then the Rook at al will be
blocked. Hence the necessity
of developing that Rook im-
mediately.

11.... 0—0
12 R—d1 R a8—«c8
13 Ki—b3  P—b5

The battle lines are now dis-
tinctly drawn. But this is a
battle of movement—White
holds the center securely. He
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must advance on the King-
side before Black continues his
Queen-side advance; but how?

14 P—g4!

This move prepares for two
plans: the attack on the h-file

with Queen and Rook and the
storming of the Black Pawn
position by the White Pawns.

4. ... P—b4

Not exactly what Black had
intended. But now he must

speed things up.
15 Kt—e2 P—a5
16 R—f2 P—a4

17 Ktb3—d4 R f8—d8

Room for the King—and an

intention to counter soon by
. P—d5.

I8 P—g5
19 R—g2

Ki—e8
B—f8

20 Q—h4!

At last the attack on the h-
file. The Rook is coming to h3
vig g3.

2 .... Kt X Kt d4

21 Kt X Kt dd P—a3/

If White captures, Black
gains the square ¢8 for his
Queen for offensive and de-
fensive purposes. If he con-
tinues with lan Black can
just defend hlmself 22 R—
g3, P—eb I; 23 Kt—f5 (block-
ing the Bishop at d7 from h3),
B X Ktf5; 24P X Bf5, P X
P b2 {can he do it?); 25 R—
h3, P—h8; 26 P X P h6, Q X
P c2; 27P XP g7, BXP
28 Q—h7 ch, K—18. Now the
White attack is stalled, and he
is fatally beaten on the Queen-
side.

White therefore plays:

22 B—<cl
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And now Black, finally,
counters in the center with:

29 . ... P—e5 !
23 Ki+—f5 B x Ktf5
24 PXBt5 P—ds!

LERAND,
W Ozttt
N

kY N

Tw B
W mom
iEEH WO
% N o

We have followed this game

further than wusual, because
the battle develops more
slowly. It is a real game, be-
tween two Russian masters,
Rabinovich vs. Makogonov
(Leningrad, 1934-35). From
the final note, it seems that
Black has the advantage. But
how can this be so, if White
was first to attack—and if
White moved properly? We
must conclude that somewhere
White wasted time., Where?
1 The Knight maneuver Kt
d4—b3—d4 lost two moves
and gave the Black Pawns an
object of attack. On the other
hand, it stopped . . . Kt—a5
4,

2 The Rock maneuver fl—
£2—g2—g3-h3 seems slow.
More direct would have been
K—hl and R—gl—g3—h3,
In fact, Blacks last move is
possible only because the King
is at gl (25B X P d5P, Q—
cdch; 26 Q—f2, R X B d5;
27Q X Q ¢5, B X Q o5
check!),

3 5o serious is the loss of one
tempo (time move) in the
opening!

Other Sicilian lnes follow:

[Variation A]

1 P—ed P—c5
2 Ki—13 P—dé
3 P—d4 PXPd4
4 Kt X Pd4d K16
5 Kt—c3 P—g6
6 B—e2 B—g7
7 O—0 O—0
8 K—hi Ki—cb
9 Kt—b3 B—ed
10 p—f4 Q—c8

(see next diggram)

[Variation B]

I P—e4 P—c5
2 Ki—i3 P-—dé
3 P—d4 PxPd4

4 Kt X Pdd Ki—§6
5 Kt—c3 P—gb
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6 B—e2 B—g7 6 Pb2 X Kt Q—c7
7 0—0  Ki—cb 3

8 Kt—b3 0o—0 7 B—b5ch Ki—d7
9 P—f4 P—a5 ? | 8 Q—e?2 P—ab
10 P—a4  Q—béch 9 BxKtd7 BXBd7
11 K—h1 B—eé ch
12 B—£31/ B X Kt b3 10 Kt X Bd7 Q X Ktd7
IS PXxBb3 Rf8—d8 11 P—a4! P—eb
14 Q—e2  P—eb 12 B—b2/ B—dé
15 B—e3 Q—ab 18 P—c4 0—0
16 Q—f2] R a8—<8

17 B—bé R—d7

18 Ral—dl

(see next diagram)
[Variation C]

1 P—ed P—c5

2 Kt—13 Kt—f6

3 Kt—c3 P—d5

4 PxXPds KtXPd5

5 Ki—e5 Kt X Ktc3




[Variation D]

I P—ed P—c5
2 Kt—<c3 Kt—cb
3 P—g3 P—gb
4 B—g2 B—g7
5 Ktgl—e2 P—dé
6 P—d3 B—d7
7 B—e3 Ki—fé
5 P—h3 Q—c8
9 Q—d2 P—hé

10 O—0—0Q P—ab
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Caro-Kann Defense

The Caro-Kann has the repu-
tation of being a solid de-
fense. It avoids the difficulty
of the French Defense—the
problem of the development
of the Bishop at ¢8, On the
other hand, White has no dif-
ficulties, and has more space
for his pieces. Typical play
against this defense is the fol-
lowing:

ﬂ | FY
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1 P—ed P—cé
2 P—d4 P—d5
S Kt—c3 PXPed
4 Kt X Ped B—15
5 Kt—g3 B—gé
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The idea is to weaken the
white squares in Black’s posi-
tion and then to exchange the
Bishop which guards those
squares. To “weaken” a cer-
tain square means to force the
Pawn guarding that square to
move forward.

6.... P—hé

To move the h-Pawn further
would leave it liable to attack.

7 B—d3
8 QXBd3

B xBd3

White’s lead in development
is only temporary.
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Objects:

1 To prepare for an early . . .
O0—0—20.

2 To prevent a White Knight
from settling on K5.

8 'To prepare . .. P—=cb at
the earliest opportunity (after
. .. P—eB).

All  following moves in
Black’s plan of development
tend toward these aims, but
the most immediate need is to
prevent Kt—e5. Therefore
Black must attack this square
immediately with Knight and
Queen.

Why should Black want to
castle Queen-side in prefer-
ence to the King-side? He
has moved . . . P—h6. Every
Pawn moved in front of a
castled King invites an attack
by opposing Pawns to open a
file for Rooks. Moreover,
White has prepared for this

Pawn attack by P—h4. All he
has to do now is P—g4—g5

and there it is. Therefore:
. O—0—0,
9 K+—13 Q—c7
10 B—d2 P—eb

I 0—0—0 O0—0—-0
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12 P—c4 Kt g8—16
13 K—b1 P—c5
14 B—c3
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R
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Somre Gn
ECEEE BT
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White is now well-devel-
oped, but there is no weakness
in the Black position. How-
ever, Black must stop P—d5,
which would give White a
passed Pawn and the square
£5 if Black exchanges. There-

fore:
14 . ... PX Pd4
I5 Kt X Pdd P—aé

And the Bishop is ready to
come to dB or ¢5, as the occa-
sion demands.

Other wvariations of the
Caro-Kann follow; |

[Variation A]

1 P—e4d P—cb

2 K+—13 P—d5

3 Kt—c3  B—g4

4 P—h3 B X Ktf3

S QXBf3 PXPed

6 Kt X Ped Ki—d7

7 P—d4 Kt g8—t6

8 B—cd P—eb

9 P—3 B—e7
(see next diagram)

[Variation B]

I P—ed P—cé

2 P—d4 P—d5

3 Ki—c3 PXPed

4 Kt X Ped Kt—F6

S Kt X Ktf6 Pg7 X Ktfé

ch
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[Variation C]

1 P—e4

2 K+—13
3 Kt—<c3

P—cé
P—d5

PXPed




4 Kt X Ped Ki—d7

5 P—d4

6 Ki—g3

7 B—d3

8 P—c3

9 0—-0
10 Q—e2
I1 Ki—e5
12 P—f4
ISPXPd4
14 B—d2
15 Ral—el

Kt g8—f16
P—eb
P—c5
B—e7
O-—-0
P—bé

[ Variation D]

1 P—ed
2 P—d4
3 PXPds

P-—cé
P—d5
Px Pd5

1

2
3
4

[125]

4 P—c4
5 Kt—c3
6 B—g5
7 Kt—f3
8 R—cl
9 B—d3
I0 B X Pcd
11 B—d3!/
12 B—bt
13 P—a3
14 Q—d3

Ki—f6
P-—eb
B—e/
0—0
Ki—cé
PXPcd
P—ab
Ki—b4
P—b5
Kt b4—d5
P—qb

Exercise: Explain the reasons
for:

White's eighth move.
Black’s tenth move.
White’s eleventh move.
Black’s fourteenth move. Is

it necessary?



There are other defenses to I P—e4, but it is not our pur-
pose to exhaust the opening possibilities. We leave that to
books like Modern Chess Openings ® and Tartakover’s Die
Hypermoderne Schachpartie. We turn now to openings
starting with 1 P—d4. The most important of these is called

the Queen’s Gambit.

Queen’s Gambit
1P—d4  P—d5
2 P—c4 P X Pc4

3 K+—£3!

White, by his “gambit”
(sacrifice of the Pawn at c4)
has lured the Black Pawn at
d5 from controlling e4; but he
must first secure his corre-

" Modern Chess Openings by
Griffith and White, revised by
Reuben Fine. David McKay Co.,
1939. A new cdition was in prep-
aration at the time the ent
volume was going to press.

sponding point (e5) before try-

ing to regain his Pawn.
3.... Ki—t6

Black hastens to control d§
and e4 with pieces. '

4 P—e3

If White delays, Black can
defend the Pawn ated by . . ,
P—c6and . . . P—b5. Should
he now play 4 ... P-b5
A

4d.... P—eb

If 4... P—b5; 5P—-—-v&4,
P—c6(5...P—aBP; 6P X
P b5 and Black cannot re-
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take); 6 P X P b5, P X P b5;
7P—h3, P X Pb37 8B X P
b5 ch and 9 Q X P ba.

S5 BXPcd P—c5
6 O—0O Ki—cé
7 Kt—e3 B—e7

8PXPe5

One of the fine points of this
opening is to force the oppos-
ing Bishop to reach its destina-
tion in two moves instead of
one (“to gain a tempo”).

8.... Q X Qd1
GRXQdl BXPcs
10 P—a3 P—a5

11 Ki—b5 O—OQ°PF
12 P—b3 B—d7
13 B—b2

Despite the previous ex-
change of Queens, there is a
great deal of play left in the
position,

13 ..., Rf8—d8!

Protecting the Bishop at d7,
now threatened by B X Kt {6;
and leaving the Rook free in
the event of . . . B—=e8.

Who has the advantage?
Material is even, but White
has:

1 Control of the line al —hS.
9 Partial control of the black
squares a7, ¢7 and d6 (by Kt
—b5).

3 Immediate but not com-
plete control of the d file.

4 A better developed “white”
Bishop (meaning a Bishop on
the white squares).

Do these seem too little to
you? Then follow these moves
to find out how White has
what almost amounts to a di-
rect winning combination:

14 Ki—c7 R a8—c8
I5 B X Ktf6! P X Bf6
16 RXBdA7! RXRd47
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17 Ki X Peb Kt—d8!

The only move! If 17 . . .
PwxwKteB? 188 % P e6ch
and 18 B x R.

18 Ki—f4

And White, with a Pawn
and a Knight for his Rook, a
compact Pawn position as
against Black’s shattered one,
and threats of Kt—d5, Kt—h4
~—1i5 ete. has full compensa-
tion.

Why didn’t the combination
fully succeed? White’s Rook at
al is out of action. He would
naturally try to get it into play
on the ¢ or d ﬁ]e Thus:

I4 R—d? B—eB

Black must oppose the {ile.

15 Ki—c7! R X RdZ
16 Kt ¥ Rd?2 R—c8
17 Kt x BeB

And White has two Bishops
for a Bishop and Knight—a
slight but definite advantage.
We sce therefore that in some
games one advantage, slight as
it seems, might lead to another
less slight, and eventually even
to material advantage.

| Variation A]

I P—d4 P—d5
2 P—c4 P X Pc4d

3 Ki—F3 Kt—F&
4 P—e3 P-—eb
5BXPcd P—<c5
6 O—0 Kt—cé
7 Q—e2 Px Pd4
§ R—d1 B-—e7

9Kt x Pdd Q—c7

%.ﬁfg

B

[ Variation B]

1 P—d4 P—d5
2 P—c4 PXPcd
3 Kt—i13 P—ab
4 P—e3 B-—g4
S BXPc4 P—eb

6 Kt—-c3 Kt—cé
7 0—0 Kt—F6
8 B—e2 B—dé&
S P—b3

Now Black must play to free
his game by advancing the KP.

[128]



o
= @%%Eg

9.... P—e5/

This must be played before
White’s B—b2, for example 9
... 0—07?; 10 B—b2, P—
ed?; IIKt X Peb I Kt X Kt
ed; 12P X Kt eb, B X B e2;
13 Kt X B e2 and the BlShDP
at b2 protects the Pawn at e5.

Or 9 . O—07P; 10 B—
b2, R—E:S; 11 R—=cl!, P—
e5P; 12Kt X Peb !, Kt x Kt
ed; ISP X Kt e5, B X B e2;
14Kt X Be2, B X P e5; 15Q
X Qd8, R a8 xQd8; 16 B X
Be5, R X Beb; 17R x P ¢T.

- [Variation C]

1 P—d4 P—d5

2 P—c4 PXPcd

3 Kt—c3 P—c6 P/

4 P—ed P—e5

5 Ki—f3 P X Pd4

6 BXxP P X Kte3
c4!p

7 BXPf7
ch
8 @—b3

9 B—g5ch
10 R—d1

K—e7

P X Pb2
Kt—t4
Q—a5ch

Ead A E
41 SoF1
71 A
& @m0
By
Y 15
A RD
BE | H

e %
iH

.

A wild variation, arising out
of a “Slav Defense” played by
Alekhine (White) vs. Euwe
in the World Championship

Match, 1937. Euwe played 6
. P—b5 ? and lost.

[Variation D]

1 P—d4 P—d5
2 P—c4 PXPcd
3 Ki—13 Kt—t6
4 Kt—c3 P—cé
5 P—e3 P—b5
6 P—a4d P—b4

Black returns the gambit

Pawn—in order to get control
of the line a8—hl at once,
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7 Kt—a2 P—ed
8 BxXPcd B—b7!
9 Q—e2 P—c5!
10 0—0 B—e7
11 g—d2

Threatens the Pawn at b4
after P X P ¢5. Playing 11 P—
b3 ? would create a hole at ¢3.

II.... P—ab
12 Rfl—dl Q—bé
13 Ki—cl o—0

Queen’s Gambit Declined

[Variation A]

1 P—d4
2 P—c4
3 Ki—c3
4 B—g5
5 P—e3
6 Kt—iF3
7 R—cl

P—d5
P—eb
Kt—+F6
B—e7
Kt b8—d7
0O—0
P—cb

This is the position known
as the “Orthodox Defense.”
White would like to have his
Pawn at ¢4 captured while he
has not yet moved his Bishop
from f1, thereby saving a

tempo. The next diagram
shows the consequences of that
plan; while Variations C and
D are typical of the play that
follows 8 B—d3.

[Variation B]

8 Q—c2 P—hé
9 B—h4 P—ab
10 P—a3 P—b5 !

11 P—c5P! P—e5!
I2 PXPed Kir—e8
I3 BxBe7 Q X Be7
14 P—b4 Kt X Pe5
I5 Kt X Kte5 Q X Kte5
168 K+—e2 P—f5

17 Q—c3
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[Variation C]

| Variation D]

8 B—d3 P X Pcd
9 BXPc4d Ki—d5
I0 BxBe7 QXBe7
IT O—0 Kt X Ki c3
I2Z RXxKte3 P—e5
13 Kt X Pe5 Kt X Kie5
I4 PXKie5 QX Peb
15 P—f4 Q—t6
16 P—I5

White weakens his King's

8 B—d3 PXPed Pawn and gives up the square

9B XxXPecd Kit—d5
I0 BXxBe7 QX Be7
11 Ki—ed Kt d5—16

12 Kt—g3 Q—b4 ch
13 Q—d2 QX Qd2

14 KX Qd2 R—d8

(Alekhine — Capablanca,
World Championship, 1927)
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41 27 141
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e5 to prevent the develop-
ment of Black’s Bishop.

@t mimt
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Queen’s Gambit Declined
(Slav Defense: 2 ., . . P—cb)

Some experts claim that it is
to Black’s advantage to try to
balance the Pawn position as
much as possible. They there-
fore answer 2 P—c4 with . . .



P——c6. This leads to the vari-
ous “Slav” defenses:

| Variation A]

1 P—d4 P—d5
2 P—cd P—cé

3 K+—¥3 Kt—f6
4 Kt—c3 P X Pc4d
5 P—ad B—15

6 P—e3 P—eb

7 BXPc4d B—b4

8§ O—0O o—0
9 Q—e2 B—gb
10 Ki—eS5 Kt b8—d7
17 p—44 P—c5

[ Variation B]

1 P—d4 P—d5
2 P—c4 P—cé
3 Kt—13 K6
4 Kt—c3 PXPc4
5 P—ad B—f5

6 Kt—e5 Kt b8—d7
7 KiXPcd Q—c7
8 P—g3 P—e5
9PxXPe5 KtXxXPeb
10 B—f4 Kt f6—d7
11 B—g2 P—F6
12 0—0O R—d8
13 Q—cl B—eb
14 Ki—ed

This is the variation played
by Euwe wvs. Alekhine in the
first game of the World Cham-

pionship Match in 1937. It
resulted in Alekhine’s no
Eg&r playing the defense.
efore consulting that game
or the notes to 1t try to find
out:
1 What advantages White
gains if Black plays immedi-
ately 14 . . . B X Kt c4; 15
QXB04 Ktx Q c4; ISBX
Q 7.
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2 What White’s
tion is on the Queen-side; on

the King-side.

[Exchange Variation]

plan of ac-

1 P—dd  P—d5
2 P—c4d P—cb
SPXPd5S PxXPd5
4 Kt—13 Kt—F6
5 Ki—c3 P—eb
6 B—f4 B—e7
7 P—e3 0—0O
8 B—d3 Ki—cb
9 R—<c1 Ki+—h5
10 B—e5 Kt—fF6

If Black captures the Bishop
immediately, his Knight on h5
is stranded; he must play . . .
P—gB to save it—and he
thereby invites an attack on

the h-file.
11 B—g3 Kt—h5
12 B—b1 Kt X Bg3
13 Ph2 x P—f5
Ktg3

See the game Capablanca—
Dr. Lasker, New York, 1924
for the various possibilities in
the position.

(see next diagram)

[ Krause Variation]

I P—d4
2 P—cd

P—d5
P—cb
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3 Kt—f3 Ki—F&
4 Ki—c3 PxPcd
5 P—a4 B—f5

6 Ki—h4 B8

7 P—e3P P—e5/

8PXPeS? QxQdlch
9 Kt X Qdl B—bdch
10 B—d2
Il K x Bd2
12 K—el

BxBd2ch
Ki—ed ch
B—ed




[Slav-Meran Variation]

This is one of the most im-

portant variations of the Slav
Defense. In the following dia-

grams, we see the position
from which it arises, and some
of the possibilities to which it

leads.
1 P—d4 P—d5
2 P—c4 P—-cé
3 Kt—f13 Ki—fé
4 P—e3 P—eb
5 Kt—c3 Kt b8—d7
6 B—d3
:5"'_ J?I%?/ﬁ}f;ﬁ ;
. @}%//% %ng i
3 % ;ﬁ %? ﬁ?
EiE E
/"’%:-f o %QK """ ?'ﬁ’/ﬁ?'f
*®% 7 nin
= g% 7 fﬁﬁ
6.... PXPc4
7 BXPcd P—h5
8§ B—d3 P—ab
8 P—ed P—c5
I0 P—e5 Px Pdd

Practically forced. It leads

to wild play.
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11 Kt X Pb5/Kt X Pe5!
12 Kt X Kte5 P X Ki b5

13 Q—13! B—bdch
14 K—e2/! R--b8
I> Q—og3 Q—d6

_ELESE X
W it
% &

% 1A
%ﬁiﬁﬁ ii )
-5 B 5
%% 8 B
_____ iy %%%%%ﬁﬁ%
4 & 0 U E|
16 Ki—f3!

16 Kt—cB wins the ex-

change but Black gets a strong
attack: 16 . . . Q x Kt ¢6;
I7Q X R b8, O—0O; 18 P—
£3, B—b7; 19 Q—e5, Kt—d5
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and Black will soon force . . . 10 Kt—ad  P—c5
P—e5. II1 PXPc5 BXPc5
12 O—0O B—b7

18 Q—e2 B—e7
Another popular line of 14 R—d1 Q—a5

play: after 9 P—e4 15 P—b3 0—0

[Variation A]

The foregoing variations do not exhaust the possibilities
arising from 2 ...P—e6 or 2 ... P—c6. However a
group of modern grandmasters began studying the possi-
bilities of defending against I P—d4 without committing
themselves by 1 . . . P—d5. Instead, to insure their control
of e4 (corresponding to White’s control of €5 ), they hit upon
the idea of . . . K—f6,. .. P—bé and . . . B—b7 (control
by pieces). To insure control of e4, however, it was neces-
sary to control d5 also; so . . . P—eé became a necessary
part of the scheme. Then it was found that White could
control e4 by playing quickly Ki—c3, Q—c2 and P—e4.
Thereupon it became necessary to pin the Kt on c3 by the
move . . . B—b4. (The timing of these moves is exceed-
ingly iﬂlpﬂl‘tﬂﬂt.) The latest development of the Nimzovich
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Defense takes the curious course of Black's playing . . .

P—d5 on the fourth move!

In order to appreciate the quality of this “remote control”
defense, we are showing in detail the variation where White
plays Kt—13 and does not fry to force P—ed4 immediately.
Don’t forget to study the succeeding diagrams and decide
in each case upon the next move;

Queen’s Indian Defense

I P—d4 Kt—f5
2 P—c4 P—eb
3 Ki—f3 P—hé

4 P—g3!

White replies with a similar
maneuver. ( This method of de-
veloping a Bishop at b2, b7,
g2 or g7 is called a fianchetto.
The ch is pronounced like k.)

4.... B—b7
5 B—g2 B—e7
&6 0—0O O—0O
7 Kt—c3

E B2

o .15 7
n

T
GLEE W W
man
Syt ﬁ

2

iy
. Y

Q7
xe

7 .... Kt—ed [

Black must now cccupy this
square, before White plays Q
-—c2 and controls it.

8 Ki X Kted B X Kt ed
9 B—f4 P—dé
I0 Q—d2  Kt+—d7

{see next diggram)

II Ral—d1!
Tending to prevent Black’s -

| il

freeing moves of . . , P—c5
or . . . P—eb, which will soon
be threatened. -

1., ...

P—i5
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12 Kt—el B X Bg2
13 Kt X Bg2 B—f6

14 Q—c2!

The attack against 5 and
the unveiling of the Rook on
the d-file discourage . . . P—
e5 for two reasons: Black
would be unable to recapture
on e5 with a Pawn and the
squares f5 and d5 would be

under attack by the move
Kt—e3.
The following questions

must now be answered:
1 Is...B X P d4 (fol-

lowed by ... P—e5) good
for Black?
2 Can White play Kt—e3 on
the next move?
3 How does Black continue,
toforce ... P—e5 .. .7
4 Whyis 11 R al—dl better
than II R f1—d1 ... P
5 Should White play next P
—e4, or prepare it by P—
£3...°7

Other Queen’s Indian lines
follow:

[Variation A]

1 P—d4 Kt—f6

2 P—c4 P—eé

3 Kt—f3 P—bé

4 P—g3 B—b7

5 B—g2 B—b4 ¢ch

6 B—d2 BXBd2ch

7 QxB8d2/0—-0

8 Kt—e3 Ki—e4

9 Q—c2 Kt X Kte3
10 Ki—g5! Ki—ed!
I1 B XKted BXBed
12 Q@ X Bed QX Ktgh
I3 Q X Ra8 Kt—cé
14 Q—b7 Kt X Pd4

Euwe-Capablanca, 1931,
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[Variation B]

I P—d4
2 P—c4
3 Kt—f3
4 P—g3
5 B—g2
6 P—d5
7 Ki—h4

Ki—F6
P—eb
P—bé
B—b7
P—c5
PxPd5
Q—c7

8PXPd5 P—dé

White has a markedly supe-

Tior positinn.
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[Variation C]

1 p—d4

2 P—cd

3 Ki+—1F3

4 P—g3

5 B—q2

6 O—O

7 P—b3

8 B—b2

9 Kt X Pd4
10 K X Bg2
11 PxPd5

Kt—Ffé
P—eb
P—bé
B—b7
Q—-c8
P—c5
Px Pd4
B—e7
B X Bg2
P—d5
Kt X Pd5

[ Variation D]

I p—d4
2 P—c4

Kt—fF6
P—eé
P—bé
B—b7
G—c8
P—c5
PXPd5
Kt X Pd5



9 P—e4
10 Ki—c3

Kt—c7
Ki—eb

Tﬁi%ﬁ ﬂ

3>
iy | % %ﬁﬁ
H 4Y B

White’s free and open game
is easily worth the Pawn sacri-

ficed.

Nimzoindiagn Defense

1 P—d4 Ki—f6
S P—cd P—eab
3 Ki—«¢3

If Black still intends to play
an Indian defense, he must
pin the Knight with:

3.... B—h4
4 Q—c2 P—d5
5 PXPd5

(see next diagram)

5.... Q X Pd5!

The whole idea of the de-
fense is to hold control of db

%;ﬁ i
r
b
R
&

N

......

and e4—and at the same time
be able to challenge the Pawn
at d4d by . . . P—<cS or . . .
P—e5. The capture . . . P eb
X P d5 would spoil the second
part of the plan.

6 Ki—f3

P—c5

% ) %
W Em
% o mom

!@ ﬁ Eﬁ%ﬂ
7 B—d2

The pin on the Knight at ¢3
is relieved: the Queen at db
is attacked, and e4 challenged.
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If Black does not want to lose
time by moving his Queen and
later recapturing on ¢5 in reply
to P X P ¢5, he must play:

7 v B X Kfc3

8 BXBc3

This controls d4 and eb.

8.... P x Pd4
9Kt xPd4 P—e5
10 Ki—f3

If 10 Ki—f5, Black must
give up his other Bishop for
the Knight—but he has gained
time and center space. White's
move attacks the square e5,
and incidentally the Black

Pawn which is on it.

0 ...,

41

H&7& &
714 %
0

Approximately even game.

Other attempts to control the center lines are shown in
the following diagrams. The first two are known as the
Grunfeld Defense; the third, the King’s Indian Defense,
was one of the earliest to appear in master play; the fourth,
the Dutch Defense, dates back to before the “hypermodern”

school.

Grunfeld Defense
[Variation A]

1 P—d4 Kt—fé
2 P—c4 P—gé
3 Kt—c3 P—d5
4 PxXPds KixPd5
5 P—ed Ki X Kt c3
6 PxXKtc3 P—c5

7 Ki—13
8 B—c4
9 B—e3
10 P—h3
11 R—cl
12 O—0

B—g7
Ki—cb
O—0
Q-—c7
R—dB

Plan the best continuation

for both sides.
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[ Variation B]

I P—d4 Ki—fé
2 P—c4 P—gb
3 Kt—e3 P—d5
4 Q—b3 PXPc4
O QX Pc4d B—eb
6 Q—b5ch Ki—cb
7 Ki—f3 Kt—d5
8 Ki X Ktd5 B X Ktd5
9 P—e3 P—eb
10 B—d2 P—ab
11 Q—ad B—dé
12 B—e2 0—0

{see next diagram)

King’s Indian Defense

I p—d4 Ki—f6
2 P—cd P—gb
3 Ki—c3 B—g7
4 P—ed P—dé
5 P—g3 0—0

White here wuses Black’s
idea: to control the center
with pieces as well as with
Pawns. The White Bishops are
particularly effective.
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Dutch Defense I2 BXKted B X Bed

1 P—d4 P—f5
2 P—cd P—eé
3 P—e3 Kt—fé
4 Kt—f3 P—bé
5 B—d3 B—b7
6 Kt—c3 B—b4
7 B—d2 oO—-0
8§ Q—c2 B X Ktc3
9BXBce3 Kit—e4
10 O—0O—0 P—a5
11 Rh1—gl Ki—ab

Hypermodern Chess

WHEN the power of the theory of controlling the center by
means of pieces dawned upon the chess masters, they began
to study games played years before to see what “made them
tick.” Imagine their delight in finding the following game
in the Hamburg Tournament of 1885,

WHITE BLACK

G. Mackenzie S. Tarrasch

1 P—d4 P—d5
2 Kt—F3 Kt—fé
3 P—e3 P—eé
4 P—c4 B—d6 ?
5 P—c5 B—e7
6 P—b4 P—bé6

Black has provoked the
move P—c5 in order to re-
lieve pressure on his Pawn at advanced Pawn simply to
d5; and now he attacks the avoid a “Pawn roller” on the
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Queen-side. His main objec-
tive is to play . . . P—e5 at
the earliest opportunity. But
White feels that his life hangs
on the diagonal al—h8; and
everything is subordinated to
the control of that line.

7 B—b2! O—0
8 Kt b1—d2 P—a5
9 P—a3 Kt f6—d7

An eye on ¢b, an eye on €5
-—and an eye on cB.

10 Q—c2

Threatens P—c6 and P—b35,
paralyzing Black’s Queen-side.

10 . ... P—cb
I1I B—d3 PXPhb4!

12 PXPb4l

White will not be distracted.
If he captures the Pawn at h7,
he will lose his Bishop unless

he retreats it immediately, for
Black will be threatening . . .
P—g6. He therefore remem-

bers that the Bishop’s primary
purpose is control of e4—h7,
and keeps to his original plan.

RxXRalch
PXPcS

12, ...
I3 B X Ral
14 Pd4 X P

Now the diagonal is open—
and the threat against the
Pawn at h7 keeps it open.

14 . ... P—f5
15 Ki—d4  Ki—f6é
16 0—0O

White does not fear 16 . . .
P—e5; 17Kt X P 15, P—ed;
I8Kt X B e7ch!

16 . ... Q—c7
17 P—f4]  Ki—g4
18 R—el P—e5
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19 PXPe5!

The Pawn at e3 becomes
weak—but the diagonal aj——
h8 very strongl

9.... Q X Pe5

20 Kt dd—F3 Q—<c7
21 P—h3 Kt—hé
22 B—e5 Q—b7
23 R—b]1 Ki—ad
The threat was P—Dbb5.

After Black’s last move, this

advance would deprive the
Pawn at ¢5 of protection.

24 Q—ad  Kt—f7

25 B—<¢3 Kt—d8

26 R—ual Kt—c7

27 Q—<2

The Queen wants to back up
the Rook on the a-file.

27 . ... B—16
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28 Kt—e5 [

Never swap that Bishopl

28 .. .. Kt—b5
20 B X Ktb5 Q XBbh5
30 Kt d2—fF3

To prevent 30 .., . Q—e2.
The threat is now 31 R—ab.
If Black tries to stop it by 30
... Kt—b7, he loses his
QQueen by 31 Kt—d4 |

30 .... P—g5

To undermine the Knight at
£3. But the diagonal is now
fully open, and White goes

“all out” in his attack.

31 P—g4
32 P X P g4

PXPgd

Black can now win a Pawn
by 32 ... B X P g4, 33Kt
X Bgd, BX Bc3; 34Q X B
¢3, R X Kt 13; but then every
White piece attacks the Black
King along the controlled
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lines: 85 Kt+—h6 ch, K—I8; 36 .... B X Kte5

36 Q—h8 ch, K—e7; 37R— 37 BxBe5 Q—i7
a7 ch ete,
32.... Q—b7 For a moment it looks as if
33 K—a? ' Black has strong counter-
—9 threats on the f-file. But those

Black’s Queen stops the diagonals .
Rook check; but now the King
stops Black’s combination for

good.
3311-1 Q-_g?
34 B—d4

The Bishuﬁ needs prutechnn
a gainst the threat of .

g4
34 .... P—h5
35 Kt—gé6! P X Pg4d

36 Ktf3—e5/

All this is possible because 38 Kt—e7  Resigns
of the control of the diagonals chl!ll!
by the White Bishop and
Queen, Now the threat of R— Forif 88 ... Q X Kt €7;
h1—h8 wins the diagonal— 389Q—gBch and 40Q X Q
and the game. g7 mate.

Playing over a game such as the one above is a rare ex-
perience and pleasure. Few such games have ever been
played in the history of chess. But the masters of the year
1920 or so were obsessed with the horrible thought that it
might never have come about if Black had not forced cer-
tain moves on White, For White, as his first four moves
indicate, was certainly considering no such development.
The next question was: how can White, regardless of
Black’s play, force similar positions? The answer is really
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metaphysical, but two players (Breyer and Reti) pro-
pounded the theory that upon the following moves would
the future of chess depend: I Ki—f3, 2 P—c4, 3P—g3, 4B—
g2, 5 0—0, 6 P—b3, 7 B—b2. What, no center Pawns?! Not
in the “Opening of the Future!”

Reti Opening
THE finest example of Reti’s theory and play is his game with
Bogolyubov in the New York Tournament of 1924.

WHITE BLACK trol eb. Black’s pieces are

placed somewhat like those in
R. Reti  E. Bogolyubov ¢ previous game. Black must

I Ki—f3 P—d5 protect the Pawn at d5 now,
9 P—cd P eb if he wants to challenge the
8 P—g3  Ki—f6 center. -

4 B—g2 B—d6 8.... P—c6

5 0—0 0—0 9 Ktb1—d2 Ki—e4

6 P—b3 R—e8 Else White prevents this
7 B—b2 Kt b8—d7 move by playing Q—c2.

I0 Kt X Kted P X Kted
11 Kt—e5 P—i£5

Absolutely essential to con-
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.12 p—31/
- 1S BxPf3!/

The e-Pawn is to be a bat-

PXPf3

tering ram against Black’s
center.
I3:... Q—c7

14 Kt X Ktd7 B X Kt d7
15 P—e4 P—e5
16 P—c5 B—f8
17 Q—c2!

All the Pawns ready to be
captured—and the master de-
velops a piece! We know the
reason: Diagonal Control.

17 . ... P X Pd4
IS PXPf5 Ra8—d8
19 B—h5

White takes advantage of
every momentary control—
even of a square (g6). The
Black Rook cannot remain on
the last rank.

19 ., i

20 Bx Pd4
21 RX Rf5
22 QX Bf5

Material even—Bishops of

opposite colors—an indicated
draw? No: White controls the

white squares and the f-file.
The combination is deadly.

23 R—f1
94 B—f7 ch
25 B—e8!!

R—d8
K—h8
Resigns

The threat of mate on £8
costs Black at least a piece.

Several variations of the
Reti Opening follow; one
shows a different line of pro-
cedure for White. In this last
line of play (Variation D) we
miss the characteristic fian-
chetto of the Bishops.
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R. Beti

Reti Opening
| Variation A]

WHITE

I Ki—f3
2 P—c4
3 P—bd
4 B—b?2
5 P—g3
6 B—g2
i O—0O
8 P—d3
9 Ki b1—d2
10 Q—c2
11 Rf1—d1
12 P—a3
13 Ki—f1

BLACK

J]. R. Capablanca

Kt—f6
P—gé
B——g7
0—0
P—bé
B—b7
P—dé6
Kt b8—d7

2 %5@5%
zﬂﬁ%ﬁ

White has a marked initia-
tive.

[ Variation B]

%ﬁi/

WHITE BLACK
R. Reti Dr. E. Lasker
I K+—¥3 P—d5
2 P—c4 P—cé
3 P—g3 Kt-—f6
4 B—g2 B—f5
5 P—b3 Kt b8—d7
6 B—b2 P—eb
7 O—0O B—déb
8 p—d3 O0—0
9 Ktbl—d2 P—e5
I0 PXPds PxPd5
II R—el Q—e7
12 R—c2 P—a5
I3 P—ad P—hé
14 Q—al Rf8—e8
15 Rfl—e1 B—h7
16 Ki—F1 Kt—-c5
B/, B¢ @% 0

White’s best course is the

sacrifice of the exchange with -

I7R X Kteb, B X Reb; 18Kt
X P eb, etc,
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[Variation C]

WHITE BLACK

R.Reti J.R. Capablanca

I Ki—13 P—d5

2 P—c4 P—<c6

3 P—g3 K—f6

4 B—g2 B—g4

5 Kt—e5 B—h5

6 P—b3 P—eb

7 B—b2 B—e7

8 O-—0 Kt b8—d7
9 Kt X Ktd7 Q@ X Ktd7
10 P—d3 Oo—0

11 K+—d2 Q—c7
12 R—cl R f8—d8

[ Variation D]

I K—f3  P—d5
2 P—c4 P—d4
3 P—e3 Kt—<c6
4PXPd4 KtxPd4
5 Ki X Ktd4 Q X Ktd4
6 Kt—c3 B—g4
7 Q—adch P—cé
8 P-—d3 Kt—F6
9 B—e3 Q—d7
10 P—d4 P—eb
11 P—£3 B—f5
12 O—0—0 B—dé
13 P—g4 B—g6
14 P—h4 P—hé

13 Ki—f£3
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This is not the last word on opening possibilities. Whole
volumes have been written on the Opening alone—Hand-
biicher, Lehrbiicher, Digests, etc.—and the English-speak-
ing chess players are respectfully referred to their Bible:
“Modern Chess Openings” by Griffith and White (revised
by Reuben Fine). Every tournament played contributes to
the theory of the opening. In every club match some game
causes great interest because of a new variation played.
But the wealth of combinations of moves possible should not
dismay the beginner. Rather let him remember that every
player is guided by the general rules set forth in this book:
Development, Timing, Center Control. Every inventor of a
“new move” was once a novice like himself, a bit puzzled
by the vastness of the world opened up to him, a bit timor-
ous, perhaps—but led on by the same pleasure of discovery,
of invention, of creativeness; of humor betimes; of tragedy
and unexpected recovery; of courage and fighting in the
face of heavy odds and seemingly overwhelming odds—in
short, of the human world.
And that is why chess is the game for you and me.
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THE BEGINNER’S BOOK OF CHESS
by FRANK HOLLINGS

A simple and well-written introduction to the game.
$0.75

A GUIDE TO THE GAME OF CHESS
by DAvip A. MITCHELL

This popular guide has been completely revised by
Edward Lasker. $0.50

LEARN CHESS FAST!

by SAMMY RESHEVSKY and FRED REINFELD

- Clear, concise, authoritative, with more than 300

diagrams. The best low-priced introduction to the
game! $1.00

Problems and Endgames
MATE IN THREE MOVES

by BRIAN HARLEY

A comprchensive, up-to-date treatise on the three-
mover; with 267 diagrammed masterpieces.  $2.50

HOW TO SOLVE CHESS PROBLEMS
by KENNETH HOWARD

A beautiful book, beautifully written, by a world-

famous authority. Many examples. $2.50

CHESSBOARD MAGIC

by IrRvING CHERNEV
The leading authority in the field has assembled the
most beautiful end-game compositions, bewitching
for their artistry and surprise effects. $2.50
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Chess Handbooksmmmm-mm%

$1.50 each
COMMON SENSE IN CHESS

by Dr. EMANUEL LASKER.

A consistent best-seller for many years. Players of all
degrees of strength have benefited enormously from
its clear, shrewd and pithy exposition of basic prob-
lems. New edition revised by FRED REINFELD

FIFTY GREAT GAMES OF
MODERN CHESS
by H. GOLOMBEK

An outstanding collection of choice modern master-
pieces. Each game is a gem.

-

2

LASKER’S CHESS PRIMER ;
by DrR. EMANUEL LASKER l
i

é

The great player who held the World Champion-
ship for 26 years was a great teacher as well.

THE NEXT MOVE IS . . .
by E. G. R. CoRDINGLEY

Suspense is artfully blended with instruction in this
fascinating collection of 250 fine combinations.

INSTRUCTIVE POSITIONS FROM
MASTER CHESS
by J. MiEesEs

The grand old man of sparkling, attacking chess
presents an entrancing series of striking positions
from great master games. A delightful book.

CHESS FOR AMATEURS

by FrRED REINFELD

Written along highly original lines; deals with the
everyday problems of ordinary players.
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